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Question: 1 - 10487 

Deloris Johnson, CFA, suspected that her intern, who was working without pay at her brokerage firm, had violated a federal securities regulation. Johnson discussed the matter with her company's legal counsel who said that the intern's conduct was illegal. According to the AIMR Code and Standards of Professional Conduct, Johnson can dissociate herself from this illegal activity by: 

	A)
	transferring supervision of the intern to another person.

	B)
	reporting the activity to the appropriate authorities.

	C)
	reporting the violation to AIMR.

	D)
	telling her intern to stop such conduct.




Question: 2 - 10622 

A bank trust department has three portfolio managers (Diane Cole, Tomas Bermudez, and Anthony Ring) who have been awarded the right to use the CFA designation and one other employee (Diane Takao), who is currently enrolled in the CFA Program. The bank wants to include information about these individuals in a brochure. According to the AIMR Standards of Professional Conduct, which of the following is a proper use the designation in the brochure? 

	A)
	Anthony Ring is a Chartered Financial Analyst who has had 10 years of experience as a portfolio manager.

	B)
	Tomas Bermudez is a CFA-type portfolio manager, who specializes in growth stocks.

	C)
	Diane Takao passed Level II of the CFA examination in 2000 and is currently enrolled to take Level III in 2001.

	D)
	Diane Cole is one of three CFAs in our trust department.




Question: 3 - 10639 

Janet Olson, CFA, is an analyst at Quantech Associates. Olson attended a conference at which Brian Wright presented several proprietary computerized spreadsheets that he had developed to value high-tech stocks. While at the conference, Olson copied the spreadsheets without Wright's knowledge. Later, Olson made several minor changes to Wrights initial model. After testing the revised model, Olson was impressed with the results. As inputs for the model, she used factual materials supplied by Moody's Investors Service, a recognized financial and statistical reporting service. Olson wrote a research report describing the revised model and its results and distributed the report to Quantech's clients. According to the AIMR Standards of Professional Conduct, which of the following actions is Olson required to take? Olson is: 

	A)
	required to seek authorization from Wright to copy the spreadsheets and acknowledge Wright for developing the initial model and Moody's Investors Service as the source of the data.

	B)
	required to acknowledge Moody's Investors Service as the source of the data but is not required to seek the authorization from Wright to copy the spreadsheets or to acknowledge Wright for developing the initial model.

	C)
	not required to seek authorization from Wright to copy the spreadsheets or to acknowledge either Wright for developing the initial model or Moody's Investor's Service as the source of the data.

	D)
	required to seek the authorization from Wright to copy the spreadsheets, acknowledge Wright for developing the initial model but is not required to acknowledge Moody's Investors Service as the source of the data.




Question: 4 - 10654 

Nick O'Donnell, CFA, unsuspectingly joins the research team at Wickett & Co., an investment banking firm controlled by organized crime. None of the managers at Wickett are AIMR members. During his first day on the job he is asked by his boss, "What does CFA stand for?" In this instance he should: 

	A)
	quit immediately and begin looking for a new job.

	B)
	report Wickett to the relevant regulatory authorities.

	C)
	deliver a copy of the Code and Standards to his employer and inform them that he is obligated to comply with the contents thereof.

	D)
	explain what CFA stands for and explain the requirements that have been met to become an AIMR member.




Question: 5 - 10681 

The following scenarios refer to two analysts who are employed at Global Securities, a large brokerage firm.

· Paula Linstrom, CFA, is instructed by her supervisor to write a research report on Delta Enterprises. Delta's stock is widely held by institutional and individual investors. Although Linstrom does not own any of Delta's stocks, she believes that one of her friends may own 10 shares of Delta. The stock currently sells for $25 dollars a share. Linstrom does not believe that informing her employer about her friend's possible ownership of Delta shares is necessary. 

· Hershel Wadel, a member of AIMR, is asked by his supervisor to write a research report on Gamma Company. Wadel's wife inherited 500 shares of Gamma Company from her father when he died five years ago. Gamma stock currently sells for $35 a share. Wadel does not believe that informing his employer about his wife's ownership of Gamma shares is necessary. 

According to the AIMR Standards of Professional Conduct, which the following statements about Linstrom and Wadel's conduct is TRUE?
	A)
	Both Linstrom and Wadel violated the Standards.

	B)
	Wadel violated the Standards, but Linstrom did not.

	C)
	Neither Linstrom nor Wadel violated the standards

	D)
	Linstrom violated the Standards, but Wadel did not.




Question: 6 - 10725 

According to the AIMR Standards of Professional Conduct, which of the following is NOT a compliance procedure for maintaining independence and objectivity in making investment recommendations or taking investment action? 

	A)
	Disclose personal holdings and beneficial ownerships.

	B)
	Create a restricted list so that the firm disseminates only factual information about a controversial company.

	C)
	Disclose all corporate relationships such as directorships and underwriting arrangements.

	D)
	Maintain files to support investment recommendations.




Question: 7 - 10741 

Tony Calaveccio, CFA, is the manager of the TrustCo Small Cap Venture Fund in Toronto. He places trades for the fund with Canadian Brokerage. Canadian provides Calaveccio with soft dollars to purchase research. He uses these soft dollars to get research reports from Canadian's research department regarding the issues currently held in the small cap portfolio, and also for firms he is contemplating adding to the portfolio. These actions are: 

	A)
	not in violation of the Code and Standards.

	B)
	in violation of his fiduciary duties insofar as both the currently held issue research and research concerning issues contemplated for purchase.

	C)
	in violation of his fiduciary duties insofar as the contemplated issues are concerned but not so regarding research concerning currently held issues.

	D)
	in violation of his fiduciary duties insofar as the currently held issues are concerned but not so regarding research concerning issues contemplated for purchase.




Question: 8 - 10745 

Marc Randall, CFA, is an investment analyst. During a meeting with a potential client, Randall's boss states that, "You can be sure our investments will always outperform Treasury Bonds because of our fine research staff members, like Marc." Randall knows that this statement is: 

	A)
	a violation of the Standard concerning prohibition against misrepresentation.

	B)
	a violation of fiduciary duties owed to clients under the Standards.

	C)
	a violation of the Standard concerning the use of nonpublic information, since shares can be manipulated to obtain the desired return.

	D)
	not in violation of the Code and Standards.




Question: 9 - 29527 

Joanna Burgess, CFA, prepared a research report on Lighthouse, Inc. for public distribution. The entire focus of the report was on the economy in general and the prediction that the computer chip industry would be carried along by the strong economy. The report concluded by stating that Lighthouse, a computer chip manufacturer, was significantly posed for future growth and predicted that Lighthouse’s stock price would double in the next year.

Burgess’ report: 
	A)
	violates the Code and Standards because it predicts that Lighthouse's stock price will double in the next year. 

	B)
	violates the Code and Standards because it was distributed beyond Burgess' own clients.

	C)
	violates the Code and Standards because it does not indicate the basic characteristics of Lighthouse, Inc.

	D)
	does not violate the Code and Standards.




Question: 10 - 29528 

Heidi Krueger, CFA, has discretionary authority over the accounts of Johnson, for whom she manages a portfolio of energy stocks, and Osaki, for whom she manages a diversified portfolio of domestic and international stocks. Krueger always seeks the best price and execution and has disclosed to all of her clients the process she follows to make use of soft dollars and apply them for the benefit of her clients.

In the year 2000, Krueger applied soft dollars generated from the Johnson and Osaki accounts to purchase a report on the economic impact of world events, to purchase an analysis of the domestic steel industry, and to purchase a new conference table for her office.

Krueger was in compliance with the Code and Standards in the year 2000: 
	A)
	only if she had not used soft dollars to pay for the conference table and had not used soft dollars from the trading of Johnson's account to pay for the report on the domestic steel industry.

	B)
	only if she had not used soft dollars to pay for the conference table.

	C)
	because she disclosed her use of soft dollars and applied them for the direct and indirect benefit of her clients.

	D)
	only if she provided a summary of her soft dollar spending to her clients with their annual account statements.




Question: 11 - 29529 

Millie Walker, CFA, established an aggressive growth portfolio for her client, Jesse Wilmer, in December 2000. Wilmer was placed on Walker’s employer’s client mailing list, and received monthly account statements and the firm’s newsletter, which regularly informed clients that they should contact their account representative with any change in their personal circumstances or investment objectives. As of January, 2002, Walker had not spoken to Wilmer nor received any correspondence from Wilmer since the account was established.

Walker has: 
	A)
	not violated the Code and Standards because there has been regular correspondence from Walker's firm to Wilmer. 

	B)
	not violated the Code and Standards because Wilmer has been reminded regularly about the opportunity to inform Walker about any changes. 

	C)
	not violated the Code and Standards because there is no requirement for ongoing communication between client and portfolio manager. 

	D)
	violated the Code and Standards because the manager has not performed an update of Wilmer's financial situation and investment objectives.




Question: 12 - 29530 

On October 25, 2001 Bjorn Sandvik, CFA, completed a research report with a buy recommendation for Acorn Properties. In the early afternoon of October 25, Sandvik e-mailed this recommendation to his clients who had responded to his request that they provide Sandvik with their e-mail addresses. Later that afternoon, the printed recommendation was forwarded to the postal service for normal delivery to all customers, who received the mailing from 1 to 3 days later.

Sandvik has: 
	A)
	not violated the Code and Standards because members are not required to disseminate research recommendations to their clients according to any definite standard. 

	B)
	not violated the Code and Standards because he acted fairly in disseminating research information to his clients.

	C)
	violated the Code and Standards by sending the e-mail recommendation in advance of the printed report. 

	D)
	violated the Code and Standards by sending the e-mail recommendation to only some of his clients. Until they all provide him with e-mail addresses, he should treat them equally and use only standard mail for all.




Question: 13 - 29531 

Mary Okasaki, CFA, was approached by her client, Robert Jordan, about his interest in making a charitable contribution to a charity that would benefit children. He told her that he wanted the donation to be $100,000, that he wanted to donate appreciated securities from his account with Okasaki, and that he wanted the contribution to bring him tax advantages.

Okasaki will: 
	A)
	violate the Code and Standards if she informs the local director of Children's Charity that the director should call Jordan about a possible donation.

	B)
	not violate the Code and Standards if she informs the local director of Children's Charity that her client, Robert Jordan, is interested in making a significant contribution to the charity and that Jordan will be contacting the charity. 

	C)
	violate the Code and Standards if she informs the local director of Children's Charities that she has an unnamed client who is interested in making a significant contribution to the charity and that the client will be contacting the charity. 

	D)
	not violate the Code and Standards if she arranges a lunch meeting with the local director of Children's Charities and tells the director Jordan's name but no other details until they are in the meeting. 




Question: 14 - 29532 

Laura Field, CFA, is a representative of Valley Investments. Valley owns a significant position in Datatronics, a regional company whose stock Valley acquired upon Datatronic’s initial public offering some years ago. Most portfolios managed by Valley on behalf of its clients also included Datatronics stock. Field had a meeting with a prospect during which she discussed potential positions the firm might place in her portfolio. She did not mention Valley’s position in Datatronics.

Field has: 

	A)
	violated the Code and Standards in not disclosing the firm's position in Datatronics only if Datatronics stock were to be placed in the prospect's portfolio.

	B)
	violated the Code and Standards in not disclosing the firm's position in Datatronics.

	C)
	not violated the Code and Standards because the firm's ownership of Datatronics could not reasonably be expected to impair Field's ability to make unbiased recommendations.

	D)
	not violated the Code and Standards because Field did not personally own any Datatronics stock.




Question: 15 - 29533 

Vijay Gill, CFA, leases office space from Land Bank in exchange for an agreement that Gill will pay Land 20 percent of any fees paid by Land customers to Gill for investment management services. Gill has also retained Bloom Advisors to act as subadvisor for Gill’s clients. Under the terms of their agreement, Gill pays Bloom 0.25 percent annually of Gill’s assets under management.

Next week, Gill is meeting with Randolph Singh, a Land Bank customer, who is interested in Gill’s asset management services.

Gill: 
	A)
	must disclose to Singh the terms of the arrangements he has with both Land Bank and Bloom Advisors.

	B)
	must disclose to Singh the terms of the Land Bank referral arrangement, but is not required to disclose the subadvisor arrangement with Bloom Advisors. 

	C)
	must disclose to Singh the terms of the subadvisor arrangement with Bloom Advisors, but is not required to disclose the terms of the referral arrangement with Land Bank. 

	D)
	is not required to disclose either the Land Bank or Bloom Advisors arrangements, but may disclose them if Gill chooses to do so. 




Question: 16 - 29534 

Tyler Kendhammer, CFA, represents Progressive Investments. Kendhammer’s friend has given Kendhammer a copy of a memorandum written between two senior executives at the Golden Bakery Company concerning the possible merger of their company with Southern Baking. According to Kendhammer’s friend, the memorandum was given to him by a maintenance worker at Golden who observed it in the office of one of Golden’s senior executives.

Kendhammer would like to acquire shares of Golden Bakery on behalf of Progressive’s clients. Kendhammer should: 
	A)
	not acquire the shares until he has contacted Golden Bakery's management and encouraged them to publicly announce the merger discussions.

	B)
	not acquire the shares until he has contacted Golden Bakery's management and encouraged them to publicly announce the merger discussions. He should also wait until they have made the announcement and the public has had an opportunity to react to it.

	C)
	proceed to acquire the shares. 

	D)
	not acquire the shares.




Question: 17 - 29535 

With respect to AIMR’s Performance Presentation Standards (PPS), members of AIMR are: 

	A)
	encouraged to adopt them.

	B)
	required to adopt them.

	C)
	informed of the standards and may adopt them if they so choose.

	D)
	required to adopt them within five years of membership.




Question: 18 - 29536 

Under AIMR Performance Presentation Standards (PPS), all of the following must be included in the calculation of investment returns EXCEPT: 

	A)
	interest on cash equivalents.

	B)
	expenses of trading.

	C)
	investment management fees.

	D)
	unrealized gains.




Quantitative Analysis - 18 Questions - 27 minutes



Question: 19 - 20969 

A company recently took out a $25,000 loan with interest payable at the rate of 9 percent, compounded annually. The loan is to be paid off in one lump sum, at the end of 3 years. Given it is to include both principal and interest, what will be the amount of the loan payment? 
	A)
	$27,250.

	B)
	$31,750.

	C)
	$34,000.

	D)
	$32,376.




Question: 20 - 29079 

Assume an investor purchases a stock for $50. One year later, the stock is worth $60. After one more year, the stock price has fallen to the original price of $50. Calculate the continuously compounded return for year 1 and year 2. The continuously compounded return: 

	A)
	is equal for both years.

	B)
	is based on the relationship between the change in the asset's ending price and its starting price.

	C)
	for year 2 is 16.67%.

	D)
	for year 1 is 18.23%.




Question: 21 - 29080 

Jeurg Moroder was recently accepted as a freshman intern with Modelation Consultants, a prestigious econometrics firm. Before he begins the internship, he wants to familiarize himself with Monte Carlo and historical simulations. His classmate, Korey Leddy, lends Moroder his Level 1 CFA Study Notes and creates the following question to test his understanding. Moroder will least impress his employer with which of the following statements? 

	A)
	Monte Carlo simulations use a random number generator to create "what if" scenarios; historical simulations use historical data to generate "what if" scenarios.

	B)
	Historical simulation cannot take into account the effect of significant events that did not occur during the sample period. 

	C)
	A Monte Carlo simulation can be used to determine the success of a particular trading strategy or to estimate the distribution of the return of a portfolio composed of assets that do not have normally distributed returns.

	D)
	A historical simulation is useful for determining the distribution of monthly returns on a particular class of bonds.




Question: 22 - 29086 

Claude Bellow, CFA, is an analyst with a real-estate focused investment firm. Today, one of the partners e-mails Bellow the following table and requests that he look into the reward-to-variability ratios of two asset classes. The table below gives five years of annual returns for Marley REIT (real estate investment trust) and a large urban apartment building. Marley REIT invests in commercial properties. The risk-free rate is 5.0 percent and the firm’s threshold rate for this type is investment is 5.70 percent. (Note: For this question, calculate the mean returns using the arithmetic mean.)

	Table 1:  Annual returns (in %)

	Asset
	
	
	
	
	

	Year 1
	Year 2
	Year 3
	Year 4
	Year 5
	

	Marley REIT
	15.0
	8.0
	13.0
	9.0
	13.0

	Apartment Bldg
	10.0
	-1.0
	8.0
	8.0
	9.0


One of the office assistants begins to “run some numbers,” but is then called away to an important meeting. So far, the assistant has calculated the standard deviation of the apartment building returns at 3.97% and the variance of the REIT returns at 7.04%. (He assumed that the returns given represent the entire population of returns.) Now, Bellow must finish the work. 

 Bellow should conclude that the:

	A)
	safety-first ratio for the REIT is 2.49.

	B)
	partner is asking Bellow to select the investment with the minimal probability that the return falls below 5.70%.

	C)
	REIT's excess return over the risk free rate is 5.90%.

	D)
	REIT has a higher excess return per unit of risk than the apartment building has per unit of risk.




Question: 23 - 29087 

Which of the following statements about kurtosis is TRUE? 

	A)
	Most investors perceive a leptokurtic distribution as riskier than a platykurtic distribution.

	B)
	Kurtosis is critical to risk management because most risk managers put more emphasis on the standard deviation of a distribution than the distribution of returns in the tail.

	C)
	A distribution that is less peaked (flatter) than normal is leptokurtic.

	D)
	For all normal distributions, kurtosis equals 3, and excess kurtosis is kurtosis plus 3.




Question: 24 - 29089 

Claude Bellow, CFA, is an analyst with a real-estate focused investment firm. He asks his assistant to gather annual return information on an area commercial building and on a REIT (real estate investment trust) with diverse holdings. The following tables summarize the information.

	Table 1:  Annual returns (in %)

	Asset
	
	
	
	
	

	Year 1
	Year 2
	Year 3
	Year 4
	Year 5
	

	REIT
	15.5
	11.0
	5.0
	-3.0
	13.0

	Commercial Bldg
	12.0
	-5.0
	-3.0
	15.0
	15.0


 
	Table 2: Mean and Dispersion Information

	Asset
	Mean Return*
	Variance

	REIT
	8.3%
	43.96

	Commercial Bldg
	6.8%
	79.36


* Calculated using the arithmetic mean.
Determine which of the following statements is FALSE.

	A)
	The coefficient of variation of the REIT returns is approximately 0.80.

	B)
	The mean of the squared deviations from the arithmetic mean of the REIT is less than that of the commercial building.

	C)
	There is more dispersion relative to the mean in the distribution of the REIT returns when compared to the distribution of the returns for the commercial building.

	D)
	The 2nd quartile for the distribution of the REIT returns is 11.0%.




Question: 25 - 29093 

Following is the population of temperatures (in degrees Celsius) observed during a ten-day period of January taken in San Francisco at the Ferry Building.  
	Day/oC
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	High
	9
	11
	13
	14
	13
	13
	11
	14
	15
	17

	Low
	3
	6
	6
	7
	10
	10
	9
	6
	8
	4 


The population of high temperatures is normally distributed with a median of 13oC and a variance of 4.60oC. The population of low temperatures is positively skewed with a median of 6.5oC and a variance of 5.09oC.
Assume that a sample of the data consists of the reading on even-numbered days (high and low temperatures are separate samples). Which of the following statements is FALSE? For the:
	A)
	high temperatures, the sample mean is greater than the population mean.

	B)
	low temperatures, the population standard deviation is less than the sample standard deviation.

	C)
	high temperatures, the sample variance is greater than the population variance. 

	D)
	low temperatures, the mean is greater than 6.5oC.




Question: 26 - 29095 

Trina Romel, mutual fund manager, is taking over a poor-performing fund from a colleague. Romel wants to calculate the return on the portfolio. Over the last five years, the fund’s annual percentage returns were: 25, 15, 12, -8, and –14. The fund’s geometric return is closest to: 
	A)
	12.86%.

	B)
	4.96%.

	C)
	6.00%.

	D)
	13.82%.




Question: 27 - 29100 

Abbey Conti, CFA, is an options trader interested in increasing her return on put options. She develops a model that uses the magnitude of the Price Earnings (P/E) ratio to forecast whether a stock’s price will increase or decrease in the next period. She is tracking a group of 30 middle market firms. After using her model and researching historical data, Conti determines the following:
· 60% of firms with a P/E ratio of greater than 30 experience a price decrease in the next period. 
· 30% of firms with a P/E ratio of greater than 30 experience a price increase in the next period. 

· The probability that a firm in the sample will experience a price decrease in the next period is 0.40. 

Conti randomly selects a stock from the sample. Given that the stock has a P/E of greater than 30, the probability that the stock price will decline next period is approximately: 

	A)
	0.43.

	B)
	0.18.

	C)
	0.57.

	D)
	0.65.




Question: 28 - 29112 

Which of the following statements about probability distributions is FALSE? 

	A)
	For a probability distribution for the number of days the air pollution is above a specified level, p(x) = 0 when x cannot occur, or p(x) > 0 when it can.

	B)
	A cumulative distribution function gives the probability that a random variable takes a value equal to or greater than a given number.

	C)
	For a probability distribution for the specific level of air pollution on a given day, p(x) = 0 even if x can occur.

	D)
	A discrete random variable is one where it is possible to list all possible outcomes and each outcome is measurable and positive.




You are testing to see if the mean of a population is less than 133. A random sample of 50 observations had a mean of 130. Assume a standard deviation of 5. The test is to be made at the 2% significance level. You will need to refer to the partial normal table below.
	z 
	0.00 
	0.01 
	0.02 
	0.03 
	0.04 
	0.05 
	0.06 

	0.0 
	0.0000 
	0.0040 
	0.0080 
	0.0120 
	0.0160 
	0.0199 
	0.0239 

	0.1 
	0.0398 
	0.0438 
	0.0478 
	0.0517 
	0.0557 
	0.0596 
	0.0636 

	0.2 
	0.0793 
	0.0832 
	0.0871 
	0.0910 
	0.0948 
	0.0987 
	0.1026 

	0.3 
	0.1179 
	0.1217 
	0.1255 
	0.1293 
	0.1331 
	0.1368 
	0.1406 

	| 
	| 
	| 
	| 
	| 
	| 
	| 
	| 

	1.7 
	0.4554 
	0.4564 
	0.4573 
	0.4582 
	0.4591 
	0.4599 
	0.4608 

	1.8 
	0.4641 
	0.4649 
	0.4656 
	0.4664 
	0.4671 
	0.4678 
	0.4686 

	1.9 
	0.4713 
	0.4719 
	0.4726 
	0.4732 
	0.4738 
	0.4744 
	0.4750 

	2.0 
	0.4772 
	0.4778 
	0.4783 
	0.4788 
	0.4793 
	0.4798 
	0.4803 

	2.1 
	0.4821 
	0.4826 
	0.4830 
	0.4834 
	0.4838 
	0.4842 
	0.4846 

	2.2 
	0.4861 
	0.4864 
	0.4868 
	0.4871 
	0.4875 
	0.4878 
	0.4881 

	2.3 
	0.4893 
	0.4896 
	0.4898 
	0.4901 
	0.4904 
	0.4906 
	0.4909 

	2.4 
	0.4918 
	0.4920 
	0.4922 
	0.4925 
	0.4927 
	0.4929 
	0.4931 


Question: 29 - 18627 

The null hypothesis is: 

	A)
	P > 133

	B)
	P = or < 133

	C)
	P = or > 133

	D)
	P = 133


Question: 30 - 18627 

The calculated test statistic is: 

	A)
	-4.24

	B)
	+1.33

	C)
	-1.33

	D)
	-3.00


Question: 31 - 18627 

The critical value is: 

	A)
	2.17

	B)
	-2.38

	C)
	-2.05

	D)
	2.47


Question: 32 - 18627 

You should: 

	A)
	accept the null hypothesis.

	B)
	reject the alternative hypothesis.

	C)
	reject the null hypothesis.

	D)
	Cannot be determined with the information given.




Question: 33 - 29190 

Which of the following statements regarding the central limit theorem (CLT) is INCORRECT? The CLT: 

	A)
	states that for a population with mean μ and variance σ2, the sampling distribution of the sample means of all possible sample sizes will be approximately normally distributed. 

	B)
	holds for any population distribution, assuming a large sample size. 

	C)
	holds that if the sample size is greater than 30, the sampling distribution of the sample means will be approximately normal.

	D)
	gives the variance of the distribution of sample means at σ2 / n, where n is the sample size.




Question: 34 - 29196 

Kyra Mosby, M.D., has a patient who is complaining of severe abdominal pain. Based on an examination and the results from laboratory tests, Mosby states the following diagnosis hypothesis: Ho: Appendicitis, HA: Not Appendicitis. Dr. Mosby removes the patient’s appendix and the patient still complains of pain. Subsequent tests show that the gall bladder was causing the problem. By taking out the patient’s appendix, Dr. Mosby: 

	A)
	made a Type I error.

	B)
	made a Type II error.

	C)
	is correct.

	D)
	made a power error.




Question: 35 - 29200 

Brandee Shoffield is the public relations manager for Night Train Express, an arena football franchise. Shoffield is trying to sell advertising spots and wants to know if she can say with 90 percent confidence that the home game attendance is greater than 3,000 (attendance is approximately normally distributed). A sample of 15 of the last 25 home games results in a mean attendance of 3,150 and a standard deviation of 450. Which of the following statements is TRUE? 

	A)
	The calculated Z-statistic is 1.291.

	B)
	The p-value is greater than 0.10.

	C)
	Shoffield's decision to fail to reject the null hypothesis is an example of a Type II error.

	D)
	There is no test statistic for an unknown variance and a small sample size.




Question: 36 - 29207 

Nicki Oronos wants to take a certain graduate school admissions examination for which 1200 is a passing score. While using the Internet to research the average number of hours that candidates study, she finds the following unpublished regression-based study:

· Sample size of 40 

· Significance level of 5% 

· Mean score of 1400 

· Correlation Coefficient (ρ) of 0.8062 

· Intercept of 200 hours 

· Beta of 2.5 

· Variance of the forecast of 32,806 (based on 450 hours studied) 

Which of the following statements about the regression study is FALSE?

	A)
	The model predicts that a candidate who studies 350 hours will not pass the exam.

	B)
	If the regression equation is correct, a candidate should study a minimum of 400 hours to pass the exam.

	C)
	There is a positive relationship between the number of hours studied and the candidate's score on the examination.

	D)
	The number of hours studied do not explain approximately 20% of the variation in the exam score.




Economics - 14 Questions - 21 minutes



Question: 37 - 12296 

Which of the following statements about a fractional reserve system is FALSE? Under a fractional reserve banking system: 

	A)
	the amount of cash and other required reserves limits the ability of banks to expand the money supply.

	B)
	an increase in the reserve requirements increases the supply of money.

	C)
	banks are required to maintain only a fraction of their deposits in the form of cash and other reserves.

	D)
	the central bank can use reserve requirements as a monetary tool to influence the money supply.




Question: 38 - 12319 

The Federal Reserve's (Fed) most commonly used tool to influence the money supply is: 

	A)
	changing the margin percentage.

	B)
	changing the discount rate.

	C)
	open market operations.

	D)
	changing required reserve ratio.




Question: 39 - 12323 

If a central bank wants to implement expansionary monetary policy, how would the central bank use the following monetary tools? 

	A)
	Reserve Requirements
Open Market Operations
Discount Rate
Lower
Buy additional government securities
Lower


	B)
	Reserve Requirements
Open Market Operations
Discount Rate
Lower
Sell previous purchased government securities
Raise


	C)
	Reserve Requirements
Open Market Operations
Discount Rate
Raise
Sell previously purchased government securities
Raise


	D)
	Reserve Requirements
Open Market Operations
Discount Rate
Raise
Buy additional government securities
Lower





Question: 40 - 12420 

The natural rate of unemployment exists when: 

	A)
	the economy operates below full capacity.

	B)
	frictional unemployment is zero.

	C)
	structural unemployment is zero.

	D)
	the economy operates at full capicity.




Question: 41 - 12492 

Which of the following statements about difficulties in achieving proper timing of changes in fiscal policy in a counter-cyclical manner is most correct? 

	A)
	A lag exists between when in fiscal policy is needed and when policymakers widely recognize its need.

	B)
	A lag exists between when policymakers recognize the need for a fiscal policy change and the time when the change is actually instituted.

	C)
	A lag exists between when the change is instituted and when the affects work their way through the economy.

	D)
	All of these options are correct.




Question: 42 - 12504 

Most economists now accept which of the following implications of fiscal policy? 

	A)
	The ability of fiscal policy to influence real output is more limited than the basic Keynesian model suggests.

	B)
	Expansionary fiscal policy is ineffective during a severe recession.

	C)
	Expansionary monetary policy is a very effective anti-inflation weapon.

	D)
	Fiscal policy is an effective device with which to smooth even minor economic fluctuations.




Question: 43 - 12507 

According to which of the following models will a decrease in government spending and/or an increase in taxes lead to a decrease in aggregate demand? 

	A)
	Supply-side model.

	B)
	Crowding-out model.

	C)
	New classical model.

	D)
	Basic Keynesian model.




Question: 44 - 12542 

If the money interest rate is measured on the y-axis and the quantity of money is measured on the x-axis, the demand for money is: 

	A)
	vertical.

	B)
	horizontal.

	C)
	downward sloping to the lower right.

	D)
	upward sloping to the upper right.




Question: 45 - 12561 

Evidence suggests that the short-run impact of an unexpected shift to a restrictive monetary policy would be: 

	A)
	increased output, increased inflation rate, and decreased real interest rates.

	B)
	decreased output, increased inflation rate, and decreased real interest rates.

	C)
	decreased output, decreased inflation rate, and increased real interest rates.

	D)
	increased output, decreased inflation rate, and increased real interest rates.




Question: 46 - 12565 

Which of the following situations regarding the short-run effects of an anticipated shift to a more restrictive monetary policy is most likely? 

	A)
	Inflation Rate
Real Output and Employment
Real Interest Rate
Small increase
Increase
Decrease


	B)
	Inflation Rate
Real Output and Employment
Real Interest Rate
Decrease
No change
No change


	C)
	Inflation Rate
Real Output and Employment
Real Interest Rate
Increase
No change
No change


	D)
	Inflation Rate
Real Output and Employment
Real Interest Rate
Small decrease
Decrease
Increase





Question: 47 - 12691 

The sum of the explicit and implicit costs incurred by the employment of all necessary productive inputs used by a firm is called the: 

	A)
	economic cost.

	B)
	relevant cost.

	C)
	production cost.

	D)
	total cost.




Question: 48 - 12729 

Which of the following are primary factors influencing the price elasticity of demand for a product? 

	A)
	Consumer income and proportion of one's budget spent on the product.

	B)
	Availability of substitute goods and changes in consumer price expectations.

	C)
	The proportion of one's budget spent on the product and availability of substitute goods.

	D)
	The proportion of one's budget spent on the product and changes in consumer price expectations.




Question: 49 - 12766 

When a firm operates under conditions of pure competition, marginal revenue always equals: 

	A)
	average variable cost.

	B)
	price.

	C)
	one divided by elasticity of the market demand curve.

	D)
	total cost.




Question: 50 - 29063 

The spot and 30-day forward rates for the Euro are $1.1525 and $1.1015, respectively. The Euro is selling at a forward: 

	A)
	premium of $0.051.

	B)
	discount of $0.051.

	C)
	differential of 51 points.

	D)
	discount of 0.956%.




Financial Statement Analysis (FSA) - 30 Questions - 45 minutes



Question: 51 - 29537 

Independent auditors do all of the following with respect to a company’s financial statements EXCEPT: 

	A)
	provide an opinion concerning their fairness and reliability.

	B)
	prepare and accept responsibility for them.

	C)
	perform an independent review of them.

	D)
	confirm assets and liabilities contained in them.




Question: 52 - 29538 

Convenience Travel Corp.’s financial information for the year ended December 31, 2000 included the following:
	Property Plant & Equipment
	$15,000,000

	Accumulated Depreciation
	  9,000,000


The only asset owned by Convenience Travel in 2001 was a corporate jet airplane.  The airplane was being depreciated over a 15-year period on a straight-line basis at a rate of $1,000,000 per year.  
On December 31, 2001 Convenience Travel sold the airplane for $10,000,000 cash.  Net income for the year ended December 31, 2001 was $12,000,000.
Based on the above information, and ignoring taxes, what is cash flow from operations (CFO) for Convenience Travel for the year ended December 31, 2001?

	A)
	$13,000,000.

	B)
	$11,000,000.

	C)
	$12,000,000.

	D)
	$8,000,000.




Question: 53 - 14689 

Which of the following would best explain a situation where the ratio of "net income to total equity" for a firm is higher than the industry average, while the ratio of "net income to total assets" is lower than the industry average? The firm's: 

	A)
	net profit margin is higher than the industry average.

	B)
	asset turnover is higher than the industry average.

	C)
	debt ratio is higher than the industry average.

	D)
	price/earnings ratio must be lower than the industry average. 




Question: 54 - 29539 

Jersey, Inc.’s financial information included the following for its year ended December 31, 2001:

· 160,000 shares of common stock were outstanding for all of 2001. 
· 18,000 shares of 10 percent $100 par value cumulative preferred stock were outstanding for all of 2000 and 2001. 

· There were no other stock transactions. 
· Common stock dividends paid in 2001 were $240,000. 
· All preferred stock dividends were paid in 2001 and an arrearage of half of the preferred stock dividends that remained unpaid from 2000 were also paid in 2001. 
· Net income for 2001 was $720,000. 
Calculate basic earnings per share (EPS) for Jersey, Inc. for the year ended December 31, 2001.
	A)
	$3.37.

	B)
	$1.31.

	C)
	$4.50.

	D)
	$2.81.




Question: 55 - 29540 

Selected information from Jupiter Corp.’s financial activities in the year 2001 is as follows:
· Net income was 18,300,000. 
· 115,000 shares of common stock were outstanding on January 1. 
· The average market price per share was $150 in 2001. 
· Dividends were paid in 2001. 
· 200 options, which allow the holder to purchase 100 shares of common stock at an exercise price of $100 per common share, were outstanding the entire year. 
· 60,000 shares of common stock were issued on April 1. 
· 45,000 shares of common stock were purchased by the company as treasury stock on October 1. 
Jupiter Corp.’s Diluted earnings per share (Diluted EPS) for 2001 was closest to:
	A)
	$117.75.

	B)
	$123.02.

	C)
	$159.13.

	D)
	$113.28.




Question: 56 - 14734 

Which of the following combinations of accounting practices will lead to the highest reported earnings in an inflationary environment? 

	A)
	Depreciation Method
Inventory Method
straight-line
FIFO


	B)
	Depreciation Method
Inventory Method
double declining balance
FIFO


	C)
	Depreciation Method
Inventory Method
double declining balance
LIFO


	D)
	Depreciation Method
Inventory Method
straight-line
LIFO





	
	Units
	Unit Price

	Beginning Inventory
	699
	$5.00

	Purchases
	710
	$8.00

	Sales
	806
	$15.00

	SGA Expenses
	$3,141 per annum
	  


Question: 57 - 14763 

What are the Earnings Before taxes using the Weighted Average Method?
	A)
	$4,598.00.

	B)
	$3,700.56.

	C)
	$3,589.54.

	D)
	$2,789.00.


Question: 58 - 14763 

What are the Earnings Before taxes using the FIFO Method?
	A)
	$3,700.56.

	B)
	$4,598.00.

	C)
	$2,705.33.

	D)
	$2,789.00.


Question: 59 - 14763 

What are the Earnings Before taxes using the Last in First Out (LIFO) Method?
	A)
	$2,789.00.

	B)
	$3,700.56.

	C)
	$2,928.45.

	D)
	$4,460.06.




Question: 60 - 14792 

In 2000, Torrence Co. had a beginning inventory of $19,429, and made purchases of $ 17,277. If the ending inventory level was $18,903, what was Cost of Goods Sold for year 2000? 

	A)
	$16,751.

	B)
	$17,803.

	C)
	$526.

	D)
	$17,277.




	
	Units
	Unit Price

	Beginning Inventory
	559
	$1.00

	Purchases
	785
	$5.00

	Sales
	848
	$15.00

	SGA Expenses
	$3,191 per annum
	--


Question: 61 - 14801 

What is the Cost of Goods Sold using the Weighted Average Method?
	A)
	$2,004.00.

	B)
	$3,988.00.

	C)
	$2,829.19.

	D)
	$2,687.73.


Question: 62 - 14801 

What is the Cost of Goods Sold using the First in First Out (FIFO) Method?
	A)
	$2,829.19.

	B)
	$8,732.00.

	C)
	$1,903.80.

	D)
	$2,004.00.


Question: 63 - 14801 

What is the ending inventory level in dollars using the FIFO Method?
	A)
	$2,356.00.

	B)
	$3,988.00.

	C)
	$2,829.19.

	D)
	$2,480.00.




During the current year, a firm has been constructing a building to be used for its production facility. The average cost of the building in process is $1,250,000. The firm has borrowed $600,000 at 7 percent interest to finance this construction. It has $2,500,000 of 10 percent debentures and $800,000 of 8 percent mortgage debt outstanding.
Question: 64 - 14870 

What is the capitalized (added to cost of building) construction cost?
	A)
	$87,500.

	B)
	$250,000.

	C)
	$68,000.

	D)
	$107,000.


Question: 65 - 14870 

What is the total interest expense?

	A)
	$360,000.

	B)
	$318,000.

	C)
	$107,000.

	D)
	$253,000.




· Cost of the Asset is $5,988 

· Estimated useful life is 4.00 years (or 56,000 units) 

· You estimate the residual value of the asset at $514 

· For the purposes of product-output depreciation calculations, use the following data: 

· Year 1 - 30% 

· Year 2 - 25% 

· Year 3 - 25% 

· Year 4 - 2-% 

Question: 66 - 14890 

Using the Double-Declining Balance Method, what is the Depreciation in Year 2?
	A)
	$748.50.

	B)
	$1,642.20.

	C)
	$1,497.00.

	D)
	$2,994.00.


Question: 67 - 14890 

Using the Product Output Method, what is the correct Depreciation in Year 3?
	A)
	$1,094.80.

	B)
	$1,368.50.

	C)
	$1,642.20.

	D)
	$1,094.80.


Question: 68 - 14890 

Using the Sum-of-Years Digits Method, what is the Accumulated Depreciation in Year 3?
	A)
	$1,094.80.

	B)
	$5,239.50.

	C)
	$4,379.20.

	D)
	$4,926.60.


Question: 69 - 14890 

Using the Straight Line Depreciation Method, what is the Book Value of the Asset in Year 3?
	A)
	$4,105.50.

	B)
	$1,608.80.

	C)
	$1,882.50.

	D)
	$5,14.00.


Question: 70 - 14890 

At the end of Year 2, you realized that the Useful Life should really be 6 years, rather than 4, and the adjusted residual value was $255. Using the Straight Line Method, what is your annual depreciation expense of the remainder of the useful life of the asset?
	A)
	$2,996.00.

	B)
	$749.00.

	C)
	$499.33.

	D)
	$1,368.50.




Question: 71 - 14913 

A firm using straight-line depreciation reports:

· Gross investment in fixed assets of $87,820,108 

· Accumulated depreciation of $45,504,523 

· Annual depreciation expense of $3,085,465 

The approximate age of the fixed asset is:
	A)
	$28.46.

	B)
	$14.75.

	C)
	$1.93.

	D)
	$13.71.




Question: 72 - 14914 

A firm using straight-line depreciation reports:

· Gross investment in fixed assets of $87,350,014 

· Accumulated depreciation of $48,710,103 

· Annual depreciation expense of $3,791,906 

The approximate age of the fixed asset is:
	A)
	$1.79.

	B)
	$23.04.

	C)
	$12.85.

	D)
	$10.19.




A firm has just signed an 8-year lease on a new machine.

· Fair value of the machine is $100,000. 

· Lease payments are $18,000 per year, payable at the end of the year. 

· The machine has an estimated salvage value of $5,000 at the end of the lease term. 

· The machine has a 10-year useful life. 

· The firm's incremental borrowing cost is 8 percent. 

Question: 73 - 15064 

What interest rate is implicit in this lease?
	A)
	8.9%.

	B)
	12.4%.

	C)
	12.8%.

	D)
	9.6%.


Question: 74 - 15064 

At the inception of the lease, what value should the firm report?
	A)
	$103,440.

	B)
	$95,000.

	C)
	$98,499.

	D)
	$106,141.


Question: 75 - 15064 

When the first lease payment is made, what will be the amount of interest expense?
	A)
	$8,275.

	B)
	$0.

	C)
	$12,842.

	D)
	$9,887.


Question: 76 - 15064 

Assuming the lessee uses straight-line depreciation, first year depreciation for the machine will be:
	A)
	$10,344.

	B)
	$10,614.

	C)
	$12,930.

	D)
	$11,875.




A company issued an annual-pay bond with a face value of $135,662, maturity of 4 years, and 7.00 percent coupon, while the market interest rates are 8.00 percent
Question: 77 - 24709 

What is the present value of the interest payments on the date when the bonds are issued?
	A)
	$31,453.

	B)
	$131,164.

	C)
	$49,857.

	D)
	$18,992.


Question: 78 - 24709 

What is the unamortized discount on the date when the bonds are issued?
	A)
	$1,748.

	B)
	$4,498.

	C)
	$499.

	D)
	$15,729.


Question: 79 - 24709 

What is the unamortized discount at the end of the first year?
	A)
	$3,501.

	B)
	$1,209.

	C)
	$538.

	D)
	$2,247.




Question: 80 - 29541 

Lullaby Corp. owns 10,000 shares of Gram, Inc. The shares were purchased January 2, 2001 for $100 per share and were classified as available for sale securities. At December 31, 2001 the fair market value of the shares was $80 per share. Lullaby’s tax rate was 35 percent in 2001.

For the year ended December 31, 2001, Lullaby should, based on the above transaction: 
	A)
	increase owner's equity by an $70,000 deferred tax adjustment.

	B)
	decrease owner's equity by an $70,000 deferred tax adjustment.

	C)
	increase the deferred tax liability account by $70,000.

	D)
	decrease the deferred tax liability account by $70,000.




Asset Valuation - 28 Questions - 42 minutes



Question: 81 - 28909 

Jacobi Lefebre, CFA, recently accepted a position in the Real Estate Strategy group of a large retail company. The Director of the group walks by Lefebre’s cubicle, hands him a report with the following information, and asks Lefebre to determine how large a project the firm can undertake without increasing the marginal cost of capital. 
· Earnings are estimated at $50 million. 

· The dividend payout ratio is 35.0%. 

· The target capital structure is 40.0% debt and 60.0% earnings from retained equity. 

The firm can undertake a project costing up to approximately:
	A)
	$54 million. 

	B)
	$81 million.

	C)
	$83 million.

	D)
	$29 million.




Question: 82 - 28911 

Helmut Humm, manager at a large U.S. firm, has just been assigned to the capital budgeting area to replace a person who left suddenly. One of Humm’s first tasks is to calculate the company’s weighted average cost of capital (WACC) – and fast! The CEO is scheduled to present to the board in half an hour and needs the WACC – now! Luckily, Humm finds clear notes on the Target capital component weights in the current workpapers. Unfortunately, all he can find for the cost of capital components is some handwritten notes. He can make out the numbers, but not the corresponding capital component.  As time runs out, he has to guess. 
Here is what Humm deciphered:
· Target weights: wd = 30%, wps = 20%, ws = 15%, we = 35%, where wd, wps, ws and we are the weights used for debt, preferred stock, retained earnings, and common equity. 

· Cost of components (in no particular order): 11.0%, 6.0%, 15.0%, and 8.5%. 

· The cost of debt is the after-tax cost. 

If Humm guesses correctly, the WACC is: 
 
	A)
	10.1%.

	B)
	10.4%.

	C)
	9.7%.

	D)
	11.0%.




Question: 83 - 28917 

Dana Leone, Level 2 candidate in the CFA Program, is a manager in the capital planning division of a large consumer products company. Today, she must decide whether to recommend Project Forrest or Project Trieste to the Division Director. Leone’s assistant has determined the following information about the projects (which are of approximately the same size and life): 

	 
	Project Forrest
	Project Trieste

	NPV
	$105,435
	$130,750

	MIRR
	13.5%
	12.50%

	Discounted PBP
	5.5 years
	4.0 years

	Company WACC
	12.0%

	Benchmark PBP
	6.0 years


	Note: 
	NPV = Net Present Value

	 
	MIRR = Modified Internal Rate of Return

	 
	PBP = Pay Back Period

	 
	WACC = Weighted Average Cost of Capital


Based on the information in the above table, which of the following statements is FALSE? If company management is most concerned with: 

	A)
	increasing the value of the firm, Leone should recommend Project Forrest.

	B)
	liquidity, Leone should recommend Project Trieste.

	C)
	return safety margin, Leone should recommend Project Forrest.

	D)
	shareholder interests, Leone should recommend Project Trieste.




Question: 84 - 28922 

Annah Korotkin is the sole proprietor of CoverMeUp, a business that designs and sews outdoor clothing for dogs. Each year, she rents a booth at the regional Pet Expo and sells only blankets. Korotkin views the Expo as primarily a marketing tool and is happy to breakeven (that is, cover her booth rental). For the last 3 years, she has sold exactly enough blankets to cover the $750 booth rental fee. This year, she decided to make all blankets for the Expo out of high-tech waterproof/breathable material that is more expensive to produce, but that she believes she can sell for a higher profit margin. Information on the two types of blankets is as follows: 

	Per Unit
	Last Year’s (Basic) Blanket
	This Year’s (New) Blanket

	Sales Price
	$25
	$40

	Variable Cost 
	$20
	$33


 Assuming that Korotkin remains most interested in covering the booth cost (which has increased to $840), how many more or fewer blankets (new style) does she need to sell to cover the booth cost? To cover this year’s booth costs, Korotkin needs to sell:

	A)
	42 more blankets than last year.

	B)
	42 fewer blankets than last year.

	C)
	30 fewer blankets than last year.

	D)
	the same amount of blankets as last year.




Question: 85 - 28929 

Using the following assumptions, calculate the rate of return on a margin transaction and the stock price at which the investor who purchases the stock will receive a margin call. 

· Market Price Per Share: $18 

· Number of Shares Purchased: 1,000 

· Holding Period: 1 year 

· Ending Share Price: $24 

· Initial Margin Requirement: 40% 

· Maintenance margin: 30% 

· Transaction and borrowing cost: $0 

· Earnings Retention Rate: 100% 

What of the following choices is closest to the correct answer? The margin transaction return is:
	A)
	83.33%, and the investor will receive a margin call at a stock price of $15.43.

	B)
	33.33%, and the investor will receive a margin call at a stock price of $15.43.

	C)
	111.11%, and the investor will receive a margin call at a stock price of $21.00.

	D)
	111.11%, and the investor will receive a margin call at a stock price of $15.43.




Question: 86 - 28936 

The table below lists information on price per share and shares outstanding for three stocks – Rocking, Payton, and Strand. 
	 
	As of Beginning of Year

	As of End of Year
	

	Stock
	
	

	Price per Share ($) 
	# Shares Outstanding
	Price per Share ($)
	# shares Outstanding

	Rocking
	10
	10,000
	15
	10,000

	Payton
	50
	5,000
	50
	5,000

	Strand
	100
	500
	85
	500


Using the information in the table, calculate the value of a market-value weighted index at year-end and the one-year return on the price-weighted index. The beginning value for the market index is 100. (Note: The choices are listed in the order market-value weighted index value and price-weighted index percent return, respectively). Which of the following choices is closest to the correct answer? 

	A)
	10.6, 6.3.

	B)
	110.6, -6.3.

	C)
	110.6, 50.0.

	D)
	10.6, 8.4.




Question: 87 - 28940 

Caleb Gold is studying for the Level 1 CFA examination with a fellow group of first year MBA students at the London School of Economics. During that night’s study session, Stephan LeMond, the self-proclaimed group “leader,” gives a short presentation on the forms of the efficient market hypothesis (EMH). As Gold listens, he hears LeMond make an obviously incorrect statement. He quickly speaks up, and identifies which of the following statements as INCORRECT? 

	A)
	The weak-form EMH states that stock prices reflect current public market information and expectations.

	B)
	The semi-strong form EMH addresses market and non-market public information.

	C)
	The strong-form EMH assumes perfect markets. 

	D)
	The weak-form EMH suggests that technical analysis will not provide excess returns while the semi-strong form suggests that fundamental analysis cannot achieve excess returns.




Question: 88 - 28946 

Tamira Scott, CFA, manager of an index fund, needs to raise money soon (although not immediately) to pay taxes. Although she believes in the efficient market hypothesis (EMH), she remembers that there are a few anomalies she may take advantage of to earn higher returns. Which of the following actions is most unlikely to provide excess returns? Scott should purchase stocks in: 
	A)
	companies with low price/earnings ratios and/or with high book to market ratios. 

	B)
	companies that announce stock splits.

	C)
	companies not followed by analysts. 

	D)
	mid-December, with the intent to sell in early January. 




Question: 89 - 29020 

Given the following estimated financial results, value the stock of Magic Holdings, Inc. using the infinite period dividend discount model (DDM). 

· Sales of $1,000,000 

· Earnings of $200,000 

· Total Assets of $750,000 

· Equity of $500,000 

· Dividend payout ratio of 62.5% 

· Shares outstanding of 50,000 

· Real Risk Free interest rate of 3.5% 

· Expected inflation rate of 4.0% 

· Expected market return of 13.0% 

· Stock Beta at 1.8 

Which of the following choices is closest to the value of Magic Holding Inc. stock? (Note: Carry calculations out to at least 3 decimals.)
	A)
	$44.64.

	B)
	$23.54.

	C)
	Unable to calculate stock value because ke < g.

	D)
	$109.27.




Question: 90 - 29024 

Ted McGovern works in the economics branch of a government bank regulator. When he arrives at work this morning and checks his voicemail, he has a message from the Regional Director asking him to calculate the expected rate of return for a stock market series. More detailed information will be forthcoming in an e-mail. Fortunately, McGovern still has his CFA Program study guides in his office and finds the correct formulas. McGovern logs on to the computer network and downloads an attachment that contains the following estimates:

Overall Assumptions:
· Chance of a bull market is 35% 
· Chance of a bear market is 65% 
· Current Index value of 2,500 
Index Estimates – Bull Market:
· Index Dividend Payout Ratio of 50% 
· Index Growth rate of 10% 
· Required rate of return for index of 15% 
· Index earnings (next period) of $500 million 
Index Estimates – Bear Market:
· Index Dividend Payout Ratio of 35% 
· Index Growth rate of 5% 
· Required rate of return for index of 10% 
· Index earnings (next period) of $300 million 
The expected return on the index is closest to: 

	A)
	67.4%.

	B)
	39.4%.

	C)
	30.8%.

	D)
	98.2%.




Question: 91 - 29027 

Daniel Tipton and Jesse Torrez are first-year MBA students at the Haas School of Business. Torrez has an economics background, but Tipton’s background is in music. To help Tipton study one of the main tenets of competition theory, Torrez creates the following question and asks Tipton to identify the statement that is most inconsistent with Porter’s five forces. Which statement should Tipton select? 

	A)
	Supplier power is higher when there are only a few suppliers to an industry.

	B)
	To sustain above average returns on invested capital, firms should strive for economies of scale.

	C)
	Porter's five forces are: rivalry among current competitors, economies of scale, threat of substitutes, bargaining power of suppliers, and bargaining power of buyers.

	D)
	Rivalry increases when firms of equal size compete within an industry.




Question: 92 - 29030 

Consider the following information for Magical Interactions, Inc.  

· Earnings retention rate at 50% 

· Required rate of return, ke, of 13% 

· Return on equity (ROE) of 12%, expected to remain constant 

· Estimated Sales per share of $150 

· Estimated EBIDTA profit margin of 18% 

· Estimated Depreciation per share of $15 

· Estimated Interest Expense per share of $10 

· Corporate Tax Rate of 35% 

· Current market price is $12.80 per share 

Based on the assumptions above, which of the following statements is TRUE?
	A)
	The stock is undervalued.

	B)
	If the earnings retention rate increases, the value of the stock will increase (all else equal).

	C)
	If management can increase the EBITDA ratio by only 1.0%, the stock will be properly priced (all else equal).

	D)
	If inflation expectations decrease, the value of the stock will increase (all else equal).




Question: 93 - 29044 

Assume an investor makes the following investments:

· Today, she purchases a share of stock in Redwood Alternatives for $50.00. 

· After one year, she purchases an additional share for $75.00. 

· After one more year, she sells both shares for $100.00 each. 

· There are no transaction costs or taxes. 

During year one, the stock paid a $5.00 per share dividend. In year 2, the stock paid a $7.50 per share dividend. The investor’s required return is 35.0 percent.

The dollar-weighted return is:

	A)
	48.9%.

	B)
	16.1%.

	C)
	46.5%.

	D)
	102.4%.




Question: 94 - 13669 

Duration of a bond normally increases with an increase in: 

	A)
	time to maturity.

	B)
	coupon rate.

	C)
	yield to maturity.

	D)
	par value.




Consider the purchase of an existing bond selling for $1,150. This bond has 28 years to maturity, pays a 12 percent annual coupon, and is callable in 8 years for $1,100. 

Question: 95 - 13072 

What is the bond's yield to call (YTC)? 

	A)
	10.05%.

	B)
	9.26%.

	C)
	10.34%.

	D)
	10.55%.


Question: 96 - 13072 

What is the bond's yield to maturity (YTM)? 

	A)
	9.26%.

	B)
	10.34%.

	C)
	10.05%.

	D)
	10.55%.


Question: 97 - 13072 

What rate should be used to estimate the potential return on this bond? 

	A)
	the YTM.

	B)
	12.00%.

	C)
	10.34%.

	D)
	the YTC.




Question: 98 - 27923 

An investor buys a 25-year, 10 percent annual pay bond for $900 planning to sell the bond in 5 years when he estimates yields will be 9 percent. What is the estimate of the future price of this bond? 

	A)
	$964.

	B)
	$1,000.

	C)
	$1,122.

	D)
	$1,091.




Question: 99 - 14012 

A trader has a long position in a wheat contract.
· the initial margin is $5,000 

· the maintenance margin is $3,750 

· there are 5,000 bushels in each wheat contract 

· on July 10, the price is $2.00 per bushel 

What is the price at which the trader will receive a maintenance margin call?
	A)
	$1.90.

	B)
	$2.05.

	C)
	$2.25.

	D)
	$1.75.




Question: 100 - 14063 

Which of the following statements is TRUE about the profits and losses from buying a put: 

	A)
	potential losses are limited to the initial premium the buyer pays when he buys the put.

	B)
	potential profits are theoretically unlimited.

	C)
	potential losses are theoretically unlimited.

	D)
	none of these choices are correct.




Question: 101 - 14098 

XYZ company has entered into a "plain-vanilla" interest rate swap on $1,000,000 notional principal. XYZ company pays a fixed rate of 8 percent on payments that occur at 90-day intervals. Six payments remain with the next one due in exactly 90 days. On the other side of the swap, XYZ company receives payments based on the LIBOR rate. Describe the transaction between XYZ company and the dealer at the end of the sixth period if the appropriate LIBOR rate is 5 percent. 

	A)
	XYZ company receives $12,500.

	B)
	Dealer pays XYZ company $7,500.

	C)
	Dealer receives $20,000.

	D)
	XYZ company pays dealer $7,500.




Question: 102 - 27924 

If a new option contract is listed on an option exchange and only one trader buys one contract in the first day, the open interest after that day is: 

	A)
	two contract.

	B)
	zero contract.

	C)
	cannot be determined with this information.

	D)
	one contract.




Question: 103 - 10846 

A property has a potential gross rental income (PGRI) of $740,000. Operating expenses, excluding insurance and property taxes, amount to 30 percent of gross rents. Insurance and property taxes total $16,800. If the market capitalization rate is 22 percent, what is the value of this property?
	A)
	$1,726,667.

	B)
	$2,410,667.

	C)
	$2,430,909.

	D)
	$2,278,182.




Question: 104 - 10848 

You need to estimate the market value of an income producing property located in your town. Through research you have found that the property should have net operating income of $956,000, taxes of $143,400, a capitalization rate of 16 percent, and an inflation rate of 3 percent. What is the estimated property value?
	A)
	$5,078,750.

	B)
	$5,975,000.

	C)
	$7,353,846.

	D)
	$8,456,923.




Question: 105 - 10943 

Based on the following information, what is the net asset value (NAV) per share. There are currently no expenses and no load.
	Cap Stock Sold $109,000

	Price per share $10

	Stock
	Shares
	Price
	Book Value

	A
	1,051
	$10
	$5

	B
	2,420
	$35
	$29

	C
	1,851
	$9
	$8

	D
	900
	$69
	$63


	A)
	$13.26.

	B)
	$27.03.

	C)
	$15.96.

	D)
	$27.03.




Question: 106 - 10963 

You are going to invest in a closed-end mutual fund and are told that the net asset value of the fund is $20.40, and the share price is $18.20. What is the discount you would receive or the premium that you would pay?
	A)
	0.1209.

	B)
	-0.1209.

	C)
	-0.1078.

	D)
	0.1078.




Question: 107 - 10979 

A fund to be purchased had a net asset value (NAV) of $72.40 and a load of 5 percent. What is the offering price per share?
	A)
	$76.211.

	B)
	$3.811.

	C)
	$76.020.

	D)
	$72.400.




Question: 108 - 10980 

A mutual fund has a load of 4 percent and a net asset value (NAV) of $20 per share. What must an investor pay to purchase 250 shares?
	A)
	$5,200.

	B)
	$4,800.

	C)
	$5,013.

	D)
	$5,208.




Portfolio Management - 12 Questions - 18 minutes



Question: 109 - 11416 

An investor believes Stock M will rise from a current price of $20 per share to a price of $26 per share over the next year. The following information pertains:
· RF = 8% 

· ERM = 16% 

· Beta = 1.7 
Should the investor purchase the stock?
	A)
	No, because it is undervalued.

	B)
	Yes, because it is overvalued.

	C)
	No, because it is overvalued.

	D)
	Yes, because it is undervalued.




Question: 110 - 11435 

A drastic decrease in the United States market would: 

	A)
	cause an increase in the world market index.

	B)
	not affect the world market index.

	C)
	cause a decrease in the world market index.

	D)
	cannot predict the impact.




Question: 111 - 28842 

When investor inflation expectations increase, all else equal, the security market line (SML) will: 

	A)
	shift downward in a parallel manner.

	B)
	rotate counterclockwise.

	C)
	shift upward in a parallel manner.

	D)
	rotate clockwise.




Question: 112 - 28843 

Ryan Konkol, CFA, is helping Gabriel Miskowiak study for the Level 1 CFA examination. Konkol asks Miskowiak to calculate the market risk premium based on the following assumptions:

· Expected Market Return of 12% 

· Real risk-free rate of 4% 

· Expected inflation rate of 3.5% 

Which of the following choices is closest to the correct answer?

	A)
	8.0%.

	B)
	4.4%.

	C)
	8.5%.

	D)
	5.2%.




Question: 113 - 28848 

The nominal required rate is determined by the inflation premium, the risk premium, and the: 

	A)
	nominal risk-free rate.

	B)
	real risk-free rate.

	C)
	exchange rate impact.

	D)
	liquidity risk.




Question: 114 - 28850 

Which of the following statements about the investment life cycle is FALSE? 

	A)
	In general, a recent college graduate working at her first job is in the accumulation phase, has a long time horizon, and should invest in high-risk securities to earn above average nominal returns.

	B)
	A working couple both in the midpoint of their careers has a fairly long time horizon and is beginning to move to investments with moderate risk to provide asset protection. 

	C)
	A retired financial planner in the spending phase is most concerned with estate planning and tax minimization.

	D)
	Risk capacity generally declines though the investment life cycle.




Question: 115 - 28851 

Which of the following statements about portfolio management is TRUE? 

	A)
	Investment constraints include liquidity, time horizon, taxes, legal and regulatory concerns, and unique characteristics such as concern for social issues.

	B)
	The order of the four step investment process is: analyze current financial and economic conditions, specify goals and constraints, allocate assets across asset classes, and monitor and rebalance the portfolio as needed.

	C)
	An investor's portfolio (in the spending and gifting phase) should contain a sizable portion of equities to preserve capital over the long term.

	D)
	The investment performance should be judged based on the raw portfolio return. 




Question: 116 - 28857 

Keenan Omarik, a portfolio manager in the private banking division of GSK Bank, is trying to convince a conservative client to diversify using international bonds and equities. Currently, the client holds only U.S. investments (but is well diversified) and is reluctant to change his allocation. All of the following statements support Omarik’s recommendation for international diversification EXCEPT: 

	A)
	By replacing domestic investments with foreign investments in a portfolio, investors can reduce the portfolio risk while holding the number of investments constant. 

	B)
	Foreign securities usually have low correlations with U.S. investments and offer more diversification opportunities than domestic investments alone. 

	C)
	Historically, non-U.S. securities have outperformed U.S. investments on a return basis, at least in part because the non-U.S. economies have experienced higher growth rates.

	D)
	By diversifying both domestically and internationally, investors eliminate the risk from worldwide systematic risk factors.




Question: 117 - 28861 

The graph below combines the efficient frontier with the indifference curves for two different investors, X and Y.
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Which of the following statements about the above graph is INCORRECT? 

	A)
	Investor X is less risk-averse than Investor Y.

	B)
	Investor X's return will always be less than that of Investor Y.

	C)
	The portfolios indicated by the points X and Y represent the optimal portfolio for each investor.

	D)
	The efficient frontier line represents the portfolios that provide the highest return at each risk level.




Question: 118 - 28868 

Jeret Behr is a member of a Level 1 CFA Study Group. Last week, he was assigned the reading on asset pricing models and is to prepare a “tough” question on the capital market line (CML). He constructs the following graphical representation of the CML and drafts the following four statements about the graph. The letters W, X Y, and Z represent risky portfolios. Portfolio M is the market portfolio. The lines RfX and RfY represent the combination of the risk-free asset and the risky portfolio.
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Which of the following statements about the above graph did Behr make TRUE? 

	A)
	Investors are not compensated for the risk represented by the area to the left of point S.

	B)
	The correct label for the x-axis is beta risk.

	C)
	Portfolio Z was created by borrowing at the risk free rate. 

	D)
	Portfolio Y is inefficient.




Question: 119 - 28874 

Which of the following statements about Beta is TRUE? 

	A)
	In the characteristic line, the term EResiduals equals the portion of the asset's returns that are correlated to the market portfolio's returns. 

	B)
	The calculation of Beta assumes that future variability will equal past variability.

	C)
	Beta < 1, ERstock > ERmarket.

	D)
	Beta and standard deviation differ as risk measures in that beta measures only systematic risk, whereas standard deviation measures only unsystematic risk.




Question: 120 - 28878 

While studying abroad, United States citizen David Rees purchases a foreign bond with an annual coupon of 8.0 percent for 94.0. He holds the bond for one year and then sells it for 93.0 before he leaves. During the year, foreign currency appreciated 5.0% relative to the U.S. dollar.

Which of the following is closest to Rees's Total Dollar Return? 
	A)
	2.074%.

	B)
	7.447%.

	C)
	3.883%.

	D)
	12.819%.


===============================================================
Test # = 613445

Correct Answers

	1) B
	2) C
	3) D
	4) C
	5) B
	6) D
	7) A
	8) A
	9) C
	10) B

	11) D
	12) B
	13) A
	14) B
	15) A
	16) D
	17) A
	18) C
	19) D
	20) D

	21) A
	22) D
	23) A
	24) C
	25) B
	26) B
	27) C
	28) B
	29) C
	30) A

	31) C
	32) C
	33) A
	34) B
	35) B
	36) D
	37) B
	38) C
	39) A
	40) D

	41) D
	42) A
	43) D
	44) C
	45) C
	46) B
	47) D
	48) C
	49) B
	50) B

	51) B
	52) D
	53) C
	54) D
	55) A
	56) A
	57) B
	58) B
	59) A
	60) B

	61) C
	62) D
	63) D
	64) D
	65) D
	66) C
	67) B
	68) D
	69) C
	70) B

	71) B
	72) C
	73) D
	74) A
	75) A
	76) C
	77) A
	78) B
	79) A
	80) A

	81) A
	82) B
	83) A
	84) C
	85) A
	86) B
	87) A
	88) B
	89) D
	90) C

	91) C
	92) D
	93) A
	94) A
	95) A
	96) B
	97) D
	98) D
	99) D
	100) A

	101) D
	102) D
	103) D
	104) B
	105) C
	106) C
	107) A
	108) D
	109) D
	110) C

	111) C
	112) B
	113) B
	114) C
	115) A
	116) D
	117) A
	118) D
	119) B
	120) D

	
	
	
	
	
	
	
	
	
	


Answers

1) B
Johnson can dissociate herself from the illegal activity by reporting the activity to the appropriate authorities. However, the Code and Standards do not require that she report legal violations to the appropriate governmental or regulatory organizations, but such disclose is prudent in this circumstance. 



2) C
The CFA and Chartered Financial Analyst designations must always be used as adjectives, never as nouns or common names. The CFA designation should not be altered to create new words or phrases. 



3) D
To comply with Standard II(C), Olson should have gotten the authorization from Wright to copy the spreadsheets. The prohibition against plagiarism requires that Olson identify Wright as the source of the initial model. However, the Standard permits publishing factual information from Moody's Investors Service without acknowledgment because Moody's is recognized as a source of factual materials. 



4) C
Since there are no other AIMR members on staff, and it is obvious that his employer is unfamiliar with the designation, it is probable that they do not have a copy of the Code and Standards. Standard III(A) requires AIMR members to deliver a copy of the Code and Standards to their employer if the employer does not have a copy and to inform the employer in writing of the member's requirement to abide by the Code and Standards. Such actions would appear warranted in this case. Explaining what the CFA stands for, and explaining the requirements that have been met to become an AIMR member are adequate when using the professional designation (Standard II(A)), but are not sufficient under these circumstances. 



5) B
The possibility that Linstrom’s friend may own a few shares of Delta's stock, worth a low dollar amount, does not create a conflict of interest. This is because such potential ownership reasonably could not be expected to interfere with her duty to employer or ability to make unbiased and objective recommendations. On the other hand, Wadel has a beneficial interest in his wife's ownership of Gamma shares. Standard III(C) requires that Wadel disclose this information so that his employer can make the proper determination. 



6) D
Maintaining files to support investment recommendations is not a compliance procedure for Standard IV(A.3), Independence and Objectivity, but it is a compliance procedure for Standard IV(A.1), Reasonable Basis and Representations. 



7) A
The issue at hand is the member's fiduciary responsibilities in handling "soft dollars, soft pounds, etc.," which are technically the property of the client (in this case the holders of the shares of the Small Cap Venture Fund). Standard IV(B.1) delineates the member's fiduciary responsibilities, and the requirements for conformance with the Code and Standards are spelled out on page 92 of the Handbook. Since he is clearly using the soft dollars to obtain research that is directly applicable to his professional duties, there is no violation of the Standard. 



8) A
Under Standard IV(B.6), members are forbidden to make "any assurances or guarantees regarding any investment." This statement is in violation of the Standard. 



9) C
Standard IV(A2) states that if a member prepares a research report that is not just directed to a specific portfolio or client, the basic characteristics of the investment involved must be indicated. 



10) B
Standard IV(B1) requires members to act for the benefit of their clients and to place their clients interests above their own. Soft dollars may be used for client benefit if the practice is disclosed. It is not required that each element of research purchased benefit each client involved, however, the manager should seek to assure that over time, all clients benefit from the use of research purchased with client brokerage. Using soft dollars for the purchase of office furniture does not directly benefit any client and is a violation. 


11) D
Standard IV(B2) requires members to update a client’s financial situation and investment objectives no less frequently than annually. Wilmer’s account has existed for more than one year, and an update is overdue. Generally offering to do an update is not sufficient to meet this expectation. 



12) B
Standard IV(B3) requires that members deal fairly with all clients in disseminating investment recommendations. It does not require uniform or equal treatment. Sandvik’s approach in sending e-mail correspondence to those of his clients who had given him their e-mail addresses, having made the request to all of his clients, and sending regular mail correspondence the same day, is fair to all of his clients. 



13) A
Standard IV(B5) requires members to keep information communicated to them by clients confidential, unless the information concerns illegal activities. Okasaki should not reveal the identity of her client to a person outside the firm without permission from the client. 



14) B
Standard IV(B7) provides that members must disclose to clients and prospects all matters that reasonably could be expected to impair the member’s ability to make unbiased and objective recommendations. Even though Field does not own Datatronics personally, the significant ownership in Valley’s investment account could reasonably influence Field’s decisions. 



15) A
Standard IV(B8) requires members to disclose to clients and prospects any consideration or benefit received by the member or delivered to others for the recommendation of any services to the client or prospect. Gill is delivering a benefit to both Land Bank and to Bloom Advisors, which must be disclosed to Singh. 



16) D
Standard V(A) prohibits members from taking investment action if they possess material nonpublic information that has been misappropriated. The memorandum was clearly material and confidential and was inappropriately taken from the senior executive’s office. Kendhammer is prohibited from taking investment action based on this information. 


17) A
Members are encouraged to adopt AIMR’s Performance Presentation Standards on a voluntary basis. 



18) C
Under PPS, performance results may be calculated either net or gross of management fees, but the methodology must be disclosed. 



19) D

N=3; I/Y=9; PV=-25,000; CPT FV=$32,375.73


20) D
Given a holding period return of R, the continuously compounded rate of return is: ln(1+ R) = ln(Price1/Price0). Here, if the stock price increases to $60, r = ln(60/50) = 0.18232, or 18.23%. Note: Calculator keystrokes are as follows. First, obtain the result of 60/50, or 1. On the TI BA II Plus, enter 1.20 and then click on LN. On the HP12C, 1.2 [ENTER] g [LN] (the LN appears in blue on the %T key).
The other choices are incorrect. The choice, “..is based on the relationship between the change in the asset’s ending price and its starting price,” describes a discretely compounded rate of return.  A continuously compounded return measures the change over the average of all values between the beginning price and the ending price. The absolute values of the continuously compounded return for both years are equal. (The return for year 2 is ln(50/60), or ln(0.833) = negative 18.23%. In addition, the sum of the two returns using LN is 0, which accurately reflects the lack of movement in the stock price year 0 to year 2.)



21) A
The second part of this statement is false. One limitation of historical simulation is that we cannot use it to produce “what if” scenarios. The sample source is a fixed data set, so we cannot change the parameters.

The other statements are true. Historical simulation cannot take into account the effect of significant events that did not occur during the sample period. For example, a sample of orange juice prices for 1990-2000 would not include the “big freeze” of 1985. 


22) D
Another name for the reward-to-variability ratio is the Sharpe ratio, and the Sharpe ratio measures the excess return per unit of risk. So, the question is asking us to identify which investment has the highest Sharpe ratio. The formula is:
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The Sharpe Ratio measures the excess return per unit of risk

Let’s start with the apartment building since we are given its standard deviation. 

· The mean expected return of the apartment building =(10 - 1 + 8 + 8 + 9) / 5 = 6.8% 

· Thus, the Sharpe RatioApt = (6.80% - 5.00%) / 3.97% = 0.45. 

For the REIT.
· Since the standard deviation = variance1/2, the standard deviation of the REIT returns is 7.04%1/2, or 2.65%. 
· The mean expected return of the REIT =(15 + 8 + 13 + 9 + 13) / 5 = 11.6% 

· Thus, the Sharpe RatioREIT = (11.60% - 5.00%) / 2.65% = 2.49. 

Thus, the REIT has a higher Sharpe ratio and thus a higher excess return per unit of risk than the apartment building has per unit of risk. Investors prefer a large Sharpe ratio because it is assumed that they prefer return to risk.

The other statements are false. Remember that the partner asked about the reward-to-variability ratio. The safety-first ratio is very similar to the Sharpe ratio, except that the safety-first ratio replaces the risk-free rate term with the threshold rate. Thus, the safety-first ratio for the REIT = [(11.6% - 5.7%) / 2.65%] = 2.23. If the partner had asked about the safety-first ratio, he would have been asking Bellow to select the investment with the minimal probability that the return falls below 5.70%. As shown in the calculation of the REIT Sharpe Ratio, the REIT’s excess return over the risk free rate = 11.6% - 5.0% = 6.60%.



23) A
A leptokurtic distribution is more peaked than normal. It will have more returns clustered around the mean and fatter tails (more returns with large deviations from the mean).  Relative to a normal distribution, a leptokurtic distribution will have a greater percentage of small deviations from the mean and a greater percentage of extremely large deviations from the mean. Most investors perceive a greater chance of large deviations from the mean as increasing risk. A platykurtic distribution is less peaked, or flatter than normal. Thus, investors perceive a leptokurtic distribution as riskier than a platykurtic distribution.

For all normal distributions, kurtosis is equal to 3.  Statisticians, however, sometimes report excess kurtosis, which is defined as kurtosis minus 3.  A normal distribution has excess kurtosis equal to zero, a leptokurtic distribution has excess kurtosis greater than zero, and platykurtic distribution will have excess kurtosis less than zero. Kurtosis is critical in a risk management setting.  Most risk managers put less emphasis on the mean and standard deviation of a distribution and focus more on the distribution of returns in the tails of the distribution – that is where the risk is.



24) C
To answer this question, we need to determine the coefficient of variation for both investments. The coefficient of variation measures how much dispersion exists relative to the mean of a distribution and allows for direct comparison of dispersion across different data sets.

REIT Calculations:

· The standard deviation of the REIT = [43.96]1/2 = 6.63% 

· The coefficient of variation for the REIT = standard deviation / mean return = 6.63% / 8.3% = 0.799. 

Commercial building calculations

· The standard deviation of the commercial building = [79.36]1/2 = 8.9% 

· The coefficient of variation for the REIT = standard deviation / mean return = 8.9% / 6.8% = 1.309. 

Thus, there is less dispersion relative to the mean in the distribution of the REIT returns (CV = 0.80) when compared to the distribution of the monthly returns for the commercial building (CV = 1.31).

The other statements are true. The formula for the position of a percentile with n data points sorted in ascending order is:                                                                                                                                                                                                 Ly = (n + 1)* (y / 100)   Here, Ly = (5 + 1) * (50 / 100) = 3. 

So, the 2nd quartile is the 3rd data point from the left, or (-3.0, 5.0, 11.0, 13.0, 15.5).

The mean of the squared deviations from the arithmetic mean is the definition of the variance, and the variance of the REIT returns is less than that of the commercial building.

 



25) B
For the low temperatures, the population variance is given at 5.09 oC. Taking the square root gives a standard deviation of 5.091/2 = 2.26. The sample standard deviation is calculated as follows:

· Sample mean = (6 + 7 + 10 + 6 + 4) / 5 = 6.6 

· Sample Variance = [(6 – 6.6)2 + (7 – 6.6)2 + (10 – 6.6)2 + (6 – 6.6)2 + (4 – 6.6)2] / (5 – 1) = 19.2 / 4 = 4.8 

· Sample Standard Deviation = 4.81/2 = 2.19. 

Thus, the population standard deviation of 2.26 is greater than the sample standard deviation of 2.19.                                                                                                                                

The other statements are true. The strategy here is to work from the “easiest” to the most difficult calculations. (Note: all units are oC unless stated otherwise.) 
· The question tells us that the low temperatures are positively skewed with a median of 6.5. For a positively skewed distribution, we know that the mean > median > mode. Thus, the mean is greater than the median, or 6.5. 

· In a normal distribution, the mean=median=mode, so we know that the population mean for the high temperatures is 13oC. The sample mean (in oC) is: (11 + 14 + 13 + 14 + 17) / 5 = 13.8. Thus, the sample mean is greater than the population mean. 

· For the high temperatures, the population variance is given at 4.60. The sample variance is calculated as follows: 

· Sample mean = 13.8 (calculated above) 

· Variance = [(11– 13.8)2 + (14 – 13.8)2 + (13 – 13.8)2 + (9 – 13.8)2 + (17 – 13.8)2] / (5 – 1) = 4.70. 

Thus, the sample variance of 4.70 is greater than the population variance of 4.60.



26) B
The geometric return is calculated as follows:
[(1 + 0.25) * (1 + 0.15)* (1 + 0.12) (1 - 0.08) (1 – 0.14)]1/5 – 1,
or [1.25 * 1.15 * 1.12 * 0.92 * 0.86]0.2 – 1 = 0.4960, or 4.96%.


27) C
To answer this question, we will use Bayes’ Theorem to calculate a posterior probability. Bayes' Theorem is as follows:
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First, we need to calculate the denominator, which is the P(stock P/E is >30).
= [P(P/E > 30 & price decreases) * P(price decreases)] + [P(P/E > 30 & price increases) * P(price increases ]  = [(0.6 *0.4) + (0.3 * 0.6)] = 0.42

The complete calculation is: P(stock decline given a P/E >30) = (0.60 / .042) * 0.4 = 0.57. With the new information, there is a higher probability that the price will decline. Conti could possibly use this information to increase her return on put options. 


28) B
A cumulative distribution function gives the probability that a random variable takes a value equal to or less than a given number: P(X ≤ x), or F(X). 

The other statements are true. A probability distribution for the number of days the air pollution is above a specified level is a discrete distribution. We can list all the possible outcomes and each outcome has a measurable, positive probability. A probability distribution for the specific level of pollution on any given day is a continuous distribution, where we cannot list all the possible outcomes and the number of points between the upper and lower bounds is infinite. Instead of determining the probability of any one point (which is essentially zero), we determine the probability of a range. 


29) C



30) A



31) C



32) C



33) A
This question is asking you to select the false statement. The CLT states that for a population with mean μ and a finite variance σ2, the sampling distribution of the sample means of all possible samples of size n will be approximately normally distributed. The other statements are true.



34) B
This statement is an example of a Type II error, which occurs when you fail to reject a hypothesis when it is actually false (also known as the power of the test).

The other statements are incorrect. A Type I error is the rejection of a hypothesis when it is actually true (also known as the significance level of the test). “Power error” is not an appropriate term. 


35) B
If the p-value is greater than the significance level of the test, we fail to reject Ho. As shown in the calculations below, failing to reject Ho is the correct decision. Thus, we know that the p-value is greater than the 0.10 significance level of the test. 

First, we will use the process of Hypothesis testing to determine whether Shoffield should reject Ho:

            Step 1:  State the Hypothesis
                        Ho: μ = 3,000 

                        Ha: μ > 3,000

            Step 2:  Select Appropriate Test Statistic
Here, we have a normally distributed population with an unknown variance (we are given only the sample standard deviation) and a small sample size (less than 30.) Thus, we will use the t-statistic.

Step 3:  Specify the Level of Significance
Here, the confidence level is 90%, or 0.90, which translates to a 0.10 significance level. 

Step 4:  State the Decision Rule
This is a one-tailed test. The critical value for this question will be the t-statistic that corresponds to an α of 0.10, and 14 (n-1) degrees of freedom. Using the t-table , we determine that the appropriate critical value = 1.345. Thus, we will reject the null hypothesis if the calculated test statistic is greater than 1.345.

Step 5:  Calculate sample (test) statistic
The test statistic = t = (3,150 – 3,000) / (450 / √ 15) = 1.291
Step 6:  Make a decision
Fail to reject the null hypothesis because the calculated statistic is less than the critical value. Shoffield cannot state with 90% certainty that the home game attendance exceeds 3,000.

The other statements are false. As shown above, the calculated t (not Z) statistic is 1.291. Failing to reject Ho is the correct decision and thus is not an error. A Type II error occurs when we fail to reject the null hypothesis when it is false. A Type II error is also known as the power of a test.  There is a test statistic for an normally distributed population, an unknown variance and a small sample size – the t-statistic. There is no test for a non-normal population with unknown variance and small sample size.



36) D
The percent of variation in the exam score not explained by the number of hours studied is 1-R2, or 1-ρ2 = 1 -0.80622 = 100% - 65% = 35%.
The other choices are true. When X (number of hours studied) = 350, the model predicts that Y = intercept + Beta * X = 200 + (2.5 * 350) = 1075, which is less than the passing score of 1200. Since we are given that a passing score is 1200, we can set the regression equation equal to 1200 and solve for X to obtain the number of hours a candidate would need to study to pass the examination.

1200 = 200 + 2.5X, 1000 = 2.5X, 400 = X
As indicated by the sign and value of the correlation coefficient, there is a positive relationship between the number of hours studied and the candidate’s score on the examination. The type of relationship represented by the correlation coefficient is as follows:

· r = +1               perfect positive correlation 

· +1 > r > 0         positive relationship 

· r = 0                 no relationship 

· 0 > r > 1           negative relationship 

· r  1                 perfect negative correlation 



37) B
Under a fractional reserve banking system, an increase in the reserve requirements will reduce the supply of money. 


38) C
Of the Federal Reserve's three tools of monetary policy, the Fed relies most heavily on open market operations. Open market operations permits more fine tuning than changing the required ratio or changing the discount rate. Although the Fed can change the margin percentage on securities, this is not a tool of monetary policy. 



39) A
Expansionary monetary policy involves reducing reserve requirements, purchasing addition government securities, and lowering the discount rate. 



40) D
The natural rate of unemployment exists when the economy operates at full capacity. At full capacity, cyclical unemployment is zero. 



41) D
All three statements indicate a difficulty associated with the proper timing of changes in fiscal policy. Therefore, all are correct. 



42) A
Most economists now accept the fact that the ability of fiscal policy to influence real output is more limited than the basic Keynesian model suggests. There is no general agreement on the other statements. 



43) D
Restrictive fiscal policy leads to an decrease in aggregate demand according to the basic Keynesian model. 



44) C
An inverse relationship exists between the interest rate and the quantity of money demanded. Therefore, the demand for money slopes downward to the right. 



45) C
Evidence suggests that the short-run impact of an unexpected shift to a restrictive monetary policy would be decreased output, a decreased inflation rate, and increased real interest rates. The unexpected shift to a restrictive monetary policy will decrease the supply of money causing an increase in real interest rates. The higher interest rates will reduce aggregate demand, resulting in demand output and increased unemployment. The recessionary impact of the reduced output will lead to a reduction in inflation. 



46) B
When a restrictive policy action is fully anticipated, consumers and businesses expect lower prices. Although the real interest rate remains unchanged, the nominal interst rate decreases because the nominal rate equals the real rate plus expected inflation (and expected inflation is now less). Output and employment are unchanged because the lower resouce costs push the short-run aggregate supply curve out to the "old" equilibrium output level. Note: The short-run anticipated results are the same as the long run results. 



47) D
The sum of the explicit and implicit costs incurred by the employment of all necessary productive inputs used by a firm is called the total cost. 



48) C
The two primary factors influencing the price elasticity of demand for a product are the availability of substitute goods and the proportion of one's budget spent on a product. If there are good substitutes, when the price of the good goes up, some customers will buy the substitutes. For goods that occupy a relatively small proportion of one's budget, a change in price is hardly noticed. 



49) B
When a firm operates under conditions of pure competition, marginal revenue always equals price. This is because, in pure competition, price is constant (a horizontal line) so that marginal revenue is constant. 



50) B
Since the forward date is less than the spot rate, the Euro is selling at a forward discount. The amount of the discount is calculated as follows:

Forward Discount = Forward rate – Spot Rate = $1.1015 - $1.1525 = -$0.051. 


51) B
Auditors make an independent review of financial statements, which are prepared by company management and are management’s responsibility. It is the responsibility of auditors to confirm the assets, liabilities, and other items included in the statements and then issue an opinion concerning their fairness and reliability. 



52) D
Using the indirect method, CFO is net income increased by 2001 depreciation ($1,000,000) and decreased by the gain recognized on the sale of the plane ($10,000,000 – ($15,000,000 - $10,000,000 



53) C
The firm must have more total assets than the industry average for the "net income to total assets" ratio to be lower than the industry average. More assets could imply the firm is carrying more debt than the industry average to finance the assets hence a higher debt ratio. 



54) D
Jersey, Inc.’s basic EPS ((net income – preferred dividends) / weighted average number of common shares outstanding) was (($720,000 - $180,000 - $90,000) (160,000 =) $2.81. Note that preferred dividends paid in 2001 included the preferred dividends still outstanding from 2000 that were paid in 2001 of $90,000. 



55) A
To compute Jupiter’s basic earnings per share (EPS) use the formula: ((net income – preferred dividends) / weighted average common shares outstanding). The weighted average common shares outstanding were (((115,000 * 12) + (60,000 * 9) – (45,000 * 3)) / 12 =) 148,750. Basic EPS was ($18,300,000 / 148,750 =) $123.02.

Using the treasury stock method, if the options were exercised cash inflow would be (200 * $100 * 100 =) $2,000,000. The number of Jupiter shares that can be purchased with the cash (cash inflow / average share price) is ($2,000,000 / $150 =) 13,333. The net number of shares that would have been created was (20,000 – 13,333 =) 6,667. Diluted EPS was ($18,300,000 / (148,750 + 6,667) =) $117.75. Since diluted EPS is less than basic EPS, the options are dilutive and we report diluted EPS as $117.75. 


56) A
With rising prices, FIFO is the best choice from an economic (income) perspective. Straight-line depreciation will use a constant amount throughout each period, forcing income statements to be higher. 



57) B
EBT = SALES - (COGS + SGA)= 12,090 - (5,248.44 + 3,141) = $3,700.56. 



58) B
EBT = SALES - (COGS + SGA) = 12,090 - (4,351 + 3,141) = $4,598.00. 



59) A
EBT = SALES - (COGS + SGA) = 12,090 - (6,160 + 3,141) = $2,789.00. 



60) B
Beginning Inventory + Purchases - Ending Inventory = COGS. 



61) C
Weighted average = cost of goods available/total units available. COGS = Units sold X wt. ave = 848 X 3.33631 = $2829.19. 



62) D
COGS = (559 X 1)+ (289 X 5) = $2004.00. 



63) D
Ending Inventory = 496 X 5 = $2480.00. 



64) D

	Interest of construction debt:
	$600,000 x 7.00%
	 = $42,000

	Interest on debentures:
	$650,000 x 10.00%
	 = $65,000

	Total capitalized interest:
	    
	 = $107,000




65) D

	Total interest expense
	 = Total interest paid - Capitalized interest

	   
	 = $42,000 + $250,000 + $64,000 - $107,000

	    
	 = $249,000




66) C
DDB Depreciation in year 2 = .5 (Cost-1st year DDB Depreciation) = .5 (5988 - 2994) = $1497. 



67) B
(Cost - Residual)(% use) 
Cost - residual = $5988 - $514 = $5474 
YR3 depreciation = ($5474)(.25) = $1368.50 



68) D
Cost - Residual = $5988 - $514 = $5474 
Sum of years 1+2+3+4 = 10 
YR1 depreciation = (5474)(4/10) = 2189.6 
YR2 depreciation = (5474)(3/10) = 1642.2 
YR3 depreciation = (5474)(2/10) = 1094.8 
Total depreciation through year 3 = $4926.60 



69) C
Book Value of Asset in Year 3 = (cost - salvage)/4 + salvage = (5988 - 514)/4 + salvage = $1882.50. 



70) B
New Depreciation Expense = Book Value/4 = (5988-2992)/4 = 749.00. 



71) B
Average Age of Fixed Assets = Accumulated Depreciation / Annual Depreciation. 



72) C
Average Age of Fixed Assets = Accumulated Depreciation / Annual Depreciation. 



73) D

	Using your calculator, enter:

	PMT
	PV
	FV
	n
	I/Y

	$18,000
	-$100,000
	$5,000
	8
	?




74) A

	Using your calculator, enter:

	PMT
	n
	I/Y
	PV

	$18,000
	8
	8%
	?




75) A
$103,440 x .08 



76) C
$103,440 / 8 Years 



77) A

Present value of the interest payments on the date of issue is $31,453 = [I/Y = 8.00%, N = 4, PMT = $9,496.34 ($135,662 * .07 ), FV= $0 ].



78) B

The unamortized discount rate at the time bonds are issued will be $4,498. Face value of bonds = $135,662. Proceeds from bond sale = $131,164 [I/Y = 8.00%, N = 4, PMT = $9,496.34 ($135,662 * .07 ), FV= $135,662 ]. Unamortized discount = $4,498 = ($135,662 - $131,164). 



79) A

The unamortized discount will decrease by $997 at the end of first year and will be $3,501. Interest expense = $10,493 = ($131,164 * .08). Coupon payment = $9,496 = ($135,662 * .07). Change in discount = $997 = ($10,493 - $9,496). Discount at the end of first year = $3,501 ($4,498 - $997). 



80) A
The decline in the market value of available for sale securities was recorded as a loss directly to shareholder’s equity. The actual tax impact was entirely deferred pending the sale of the securities, but is recorded by increasing owner’s equity to offset the decrease from the gain itself through a deferred tax adjustment to owner’s equity in the amount of (10,000 * (100 - 80) * 0.35 =) $70,000. 



81) A

This question is asking you to calculate the retained earnings breakeven point BPRE (in relation to the marginal cost of capital). Once the breakeven point is reached, the firm will have to use external equity to fund projects, thus increasing the weighted average cost of capital (WACC). 
 The break point on the marginal cost curve is given by:
                             BPRE = (Retained Earnings) / (Equity Fraction, we)
            Here, RE = earnings * (1 – Payout) = $50 million *  (1 – 0.35) = $ 32.5 million, 
            And BPRE = $32.5 million / 0.60 = $54.17 million, or approximately $54 million.


82) B

If Humm remembers to order the capital components from cheapest to most expensive, he can calculate WACC. The order from cheapest to most expensive is: debt, preferred stock (which acts like a hybrid of debt and equity), retained earnings, and common stock. (Remember that internal equity – retained earnings is cheaper than external equity –common equity due to floatation costs.) 
 Then, using the formula for WACC = (wd)(kd) + (wps)(kps) + (ws)(ks)+ (we)(ke)
where wd, wps, ws and we are the weights used for debt, preferred stock, retained earnings, and common equity.
 WACC =  (0.30 * 6.0%) + (0.20 * 8.5%) + (0.15 * 11.00%) + (0.35 * 15.0%) = 10.4%.


83) A
Since Leone can recommend either Forrest or Trieste, this question should be answered using the decision rules for mutually exclusive projects. For a company most interested in shareholder wealth and increasing the value of the firm (which are the same concept), Project Trieste is best because it has the higher NPV. NPV is the measure that indicates the direct impact on shareholder wealth. The other statements are true. The PBP measures liquidity, i.e., the shorter the PBP, the higher the liquidity. The IRR method does provide a measure of safety margin (and Project Forrest does have the highest IRR). 



84) C

To obtain this result, we need to calculate Last Year’s Breakeven Quantity, This Year’s Breakeven Quantity, and calculate the difference.

Step 1: Determine Last Year’s (Basic Blanket) breakeven quantity:
           QBE = (Fixed Costs) / (Sales Price per unit – Variable Cost per unit) = 750 / (25 – 20) = 150

Step 2: Determine This Year’s (New Blanket) breakeven quantity:
           QBE = (Fixed Costs) / (Sales Price per unit – Variable Cost per unit) = 840 / (40 – 33) = 120

Step 3: Determine Change in Units:
            Q = QThis Year – QLast Year = 120 – 150 = -30. Korotkin needs to sell 30 fewer  blankets.



85) A

To obtain the result:
Part 1: Calculate Margin Return:
Margin Return % = [((Ending Value  - Loan Payoff) / Beginning Equity Position) – 1] * 100 = 
= [(([$24 * 1,000] – [$18 * 1,000 * 0.60]) /  ($18 * 0.40 * 1,000)) – 1] * 100 = 
= 83.33%
Alternative (Check): Calculate the all cash return and multiply by the margin leverage factor.
                          = [(24,000 – 18,000)/18,000] * [1 / 0.40] = 33.33% * 2.5 = 83.33%
Part 2: Calculate Margin Call Price:
Since the investor is long (purchased the stock), the formula for the margin call price is:
          Margin Call = (original price) * (1 – initial margin) / (1 – maintenance margin) 
   = $18 * (1 – 0.40) / (1 – 0.30) = $15.43


86) B

Calculations are as follows:
	 
	As of Beginning of Year 1 
	 
	As of End of Year 1

	 
	
	
	
	
	

	 
Stock
	
	
	
	
	

	 Price per Share   (in $) 
	 
# Shares Outstanding
	Market Capitalization (in $)
	Price per Share  (in $)
	 
# Shares Outstanding
	Market Capitalization (in $)

	Rocking
	10
	10,000
	100,000
	15
	10,000
	150,000

	Payton
	50
	5,000
	250,000
	50
	5,000
	250,000

	Strand
	100
	500
	50,000
	85
	500
	42,500

	Total
	
	
	
	
	
	

	160
	 
	400,000
	150
	 
	442,500
	


First, we will calculate the value of the market-value weighted index at year-end, and then we will calculate the return on the price-weighted index.
Step 1: Calculate value of the market-weighted index at year-end: 
Value of market-weighted index = 
[(market capitalizationyear-end) / (market capitalizationbeginning of year)]* Beginning index value
= (442,500 / 400,000) * 100 = 110.625, or approximately 110.6
Step 2:  Calculate the one-year return on the price-weighted index:
First, we will calculate the price-weighted index value for both the beginning of year and end of year, then we will calculate the return percentage.

Value of price-weighted indexbeginning = (sum of stock per share pricesbeginning) / (number of stocksbeginning) 
= (10 + 50 + 100) / 3  = 53.333
Value of price-weighted indexend = (sum of stock per share pricesend) / (number of stocksend) 
= (15 + 50 + 85) / 3  = 50.0
One-Year Return = [(Index valueyear-end / Index valuebeginning of year) -1]* 100
= [ 50.0 / 53.333) – 1] * 100 = -6.3%
Note: Your calculation may differ slightly due to rounding. Remember that the question asks you to select the closest choice.


87) A
The weak-form EMH assumes the price of a security reflects all currently available historical information. Thus, the past price and volume of trading has no relationship with the future, hence technical analysis is not useful in achieving superior returns.

The other statements are true. The strong-form EMH states that stock prices reflect all types of information: market, non-public market, and private. No group has monopolistic access to relevant information; thus no group can achieve excess returns. For these assumptions to hold, the strong-form assumes perfect markets – information is free and available to all. 



88) B
According to event studies of the semi-strong form of the EMH, stock splits do not have a short run or long run impact on returns. This finding supports the EMH.

The other choices are considered anomalies. That is, they reject the semi-strong form of the EMH, and suggest that investors can earn excess returns by exploiting these anomalies. The January anomaly (from a time-series test of the semi-strong EMH) suggests that investors can earn excess returns by buying stocks in December and selling them in the first week of January, due to tax-induced trading at year-end. Cross-sectional tests of the semi-strong form EMH have shown that low P/E stocks, stocks of firms neglected by analysts, and stocks of firms with high book to value ratios can produce superior returns. 



89) D
Here, we are given all the inputs we need. Use the following steps to calculate the value of the stock:

First, expand the infinite period DDM:

DDM formula: P0 = D1 / (ke – g) 

	D1
	= (Earnings * Payout ratio) / average number of shares outstanding

	 
	= ($200,000 * 0.625) / 50,000 = $2.50.

	 
	 
	 
	 

	ke
	=  nominal risk free rate + [beta * (expected market return – nominal risk free rate)]

	Note:   Nominal risk-free rate = (1 + real risk free rate) * (1 + expected inflation) – 1

	 
	 
	 
	 = (1.035)*(1.040) – 1 = 0.0764, or 7.64%.

	ke
	=  7.64% + [1.8 * (13.0% - 7.64%)] = 0.17288.

	 
	 
	 
	 

	g
	=    (retention rate * ROE)

	 
	 
	Retention = (1 – Payout) = 1 – 0.625 = 0.375.

	 
	 
	ROE  = (net income/sales)*(sales/total assets)*(total assets/equity)

	 
	 
	 
	= (200,000/1,000,000)*(1,000,000/750,000)*(750,000/500,000) = 0.40

	g
	= 0.375 * 0.40 = 0.15.


Then, calculate: P0 = D1 / (ke – g) = $2.50 / (0.17288 - 0.15) = 109.27. 



90) C
To calculate the expected index return, we need to calculate the expected return for the bull market and the expected return for the bear market. Then, we will use the given probabilities of each scenario to calculate the expected index return. Note: All amounts are in millions of $ unless noted otherwise.

BULL MARKET
· P/E Ratio = Dividend Payout Ratio / (ke – g), = 0.50 / (0.15 – 0.10) = 10.0 

· Ending Value of Index = EPS * P/E = 500 * 10 = 5,000 

· Index ReturnBear = (Expected Dividend + Ending Index Value – Beginning Index Value) / Beginning Index Value = [(0.50 * 500) + 5,000 – 2,500] / 2,500 = 1.10, or 110% 

BEAR MARKET
· P/E Ratio = Dividend Payout Ratio / (ke – g), = 0.35 / (0.10 – 0.05) = 7.0 

· Ending Value of IndexBear = EPSBear * P/Ebear = 300 * 7 = 2,100 

· Index ReturnBear = (Expected Dividend + Ending Index Value – Beginning Index Value) / Beginning Index Value = [(0.35 * 300) + 2,100 – 2,500] / 2,500 = -0.118, or –11.8% 

EXPECTED VALUE OF INDEX
· = ProbabilityBull * Expected ReturnBull + = ProbabilityBear * Expected ReturnBear 

          = 0.35 * 110% + 0.65 * -11.8% = 30.83%


91) C
Porter’s five forces are: rivalry among current competitors, threat of new entrants, threat of substitutes, bargaining power of suppliers, and bargaining power of buyers. Economies of scale are a way to lessen the threat of new entrants, but are not the only way to discourage competition. Companies can also have barriers to entry such as regulation or high start up capital. The other choices are true. 



92) D

The expected inflation rate is a component of ke  (through the nominal risk free rate).  ke is one component of the P/E ratio and can be represented by the following:  nominal risk free rate + stock risk premium, where nominal risk free rate = [(1 + real risk free rate) * (1 + expected inflation rate)] – 1. 

· If inflation expectations (and thus the rate of inflation) decrease, the nominal risk free rate will decrease. 

· ke will decrease. 

· The spread between ke and g, or the P/E denominator, will decrease. 

· P/E will increase. 

· The value of the stock will increase. 

The other statements are false. To determine the stock over/under valuation, we need to calculate both the P/E ratio and the EPS. 

      The P/E ratio = Dividend Payout Ratio / (ke – g), 

· Dividend payout = 1-retention = 1 – 0.50 = 0.50 

· g = retention rate * ROE = 0.50 * 0.12 = 0.06 

· P/E = 0.50 / (0.13 – 0.06) = 7.14 

      EPS = [(Per share Sales Estimate) * (EBITDA%) – D (per share)  – I (per share)] * (1 - t)

             = [($150 * 0.18) - $15 - $10] * (1 – 0.35) = $1.30

      Value of stock = EPS * P/E = 7.14 * $1.30 = $9.30
Since the market value of the stock is greater than the estimated value, the stock is overvalued.

An increase in earnings retention will likely decrease the P/E ratio. The logic is as follows: Because earnings retention impacts both the numerator (dividend payout) and denominator (g) of the P/E ratio, the impact of a change in earnings retention depends upon the relationship of ke and ROE. If the company is earning a lower rate on new projects than the rate required by the market (ROE < ke), investors will likely prefer that the company pay dividends (absent tax concerns). Investors will likely value the company lower if it retains a higher percentage of earnings.

If management increases EBITDA by 1.0%, the stock will be undervalued.
EPS = [($150 * 0.19) - $15 - $10] * (1 – 0.35) = $2.28
Value of stock = EPS * P/E = 7.14 * $2.28 = approximately $16.30, which is greater than the market value.
Note: the EBITDA % that equates to the market price is approximately 18.5%, or a 0.5% increase. Small changes in EBITDA% have a large impact on the EPS and thus on the estimated stock value.


93) A
To calculate the dollar-weighted return:

Step 1: Determine the timing and sign (inflow, outflow) of the cash flows
· Today: Purchase share 1, $50.00 outflow 

· Year 1: Receive dividend from share 1, $5.00 inflow

         Purchase share 2, $75.00 outflow

· Year 2: Received dividend from share 1, $7.50 inflow 

Received dividend from share 2, $7.50 inflow

Sell share 1, $100.00 inflow, 

Sell share 2, $100.00 inflow.

Step 2: Calculate the net cash flows for each year (all amounts in $)
· Today: = -50.00 

· Year 1: +5.00 – 75.00 = -70.00 

· Year 2: +7.50 + 7.50 + 100 + 100 = 215.00. 

Step 3: Use your financial calculator to solve for IRR (or use trial and error)
 

	Calculating IRRA with the TI Business Analyst II Plus®

	Key Strokes
	Explanation
	Display

	[CF]→[2nd]→[CLR WORK]
	Clear Memory Registers
	CF0=            0.00000

	50.0→[+/-]→[ENTER]
	Initial Cash Outlay
	CF0=         -50.00000

	[↓]→70.0→→[+/-] [ENTER]
	Period 1 Cash Flow
	C01=         -70.00000

	[↓]  
	Frequency of Cash Flow 1
	F01=            1.00000

	[↓]→215.0→[ENTER]
	Period 2 Cash Flow
	C02=         -70.00000

	[↓] 
	Frequency of Cash Flow 2
	F02=            1.00000

	[IRR]→[CPT]
	Calculate IRR
	IRR=          48.86069    


 

	Calculating IRRA with the HP12C®

	Key Strokes
	Explanation
	Display

	[f]→[FIN]→[f]→[REG]
	Clear Memory Registers
	0.00000

	50.0 [CHS]→[g]→[CF0]
	Initial Cash Outlay
	-50.00000

	70.0 [CHS]→[g]→[CFj]
	Period 1 Cash flow
	-70.00000

	215.0→[g]→[CFj]
	Period 2 Cash flow
	215.00000

	[f]→[IRR]
	Calculate IRR
	48.86069


 



94) A

Duration is directly related to maturity and inversely related to the coupon rate and yield to maturity (YTM). Duration is approximately equal to the point in years where the investor receives half of the present value of the bond's cash flows. Therefore, the later the cash flows are received, the greater the duration.  

The longer the time to maturity, the greater the duration (and vice versa). A longer-term bond pays its cash flows later than a shorter-term bond, increasing the duration. The lower the coupon rate, the greater the duration (and vice versa). A lower coupon bond pays lower annual cash flows than a higher-coupon bond and thus has less influence on duration. The lower the YTM, the higher the duration. This is because the bond's price (or present value) is inversely related to interest rates. When market yields fall, the value (or cash flow) of a bond increases without increasing the time to maturity. 



95) A
N = 8, PMT = 120, PV = -1150, FV = 1100, CPT I/Y. 



96) B
N = 28, PMT = 120, PV = -1150, FV = 1000, CPT I/Y. 



97) D



98) D
This is a Present Value problem 5 years in the future. Input into your calculator:
N = 20, PMT = 100, FV = 1000, I/Y = 9
CPT PV = 1,091.28
The $900 purchase price is a distractor for this problem. 



99) D
The trader would have to lose $1,250, or 5,000-3,750 before they get a margin call. 5,000(2.00-P) = 1,250. P = $1.75. 



100) A



101) D
XYZ company owes the dealer ($1,000,000)(.08)(90/360) = $20,000. The dealer owes XYZ company ($1,000,000)(.05)(90/360) = $12,500. Net: XYZ company pays the dealer $7,500. 



102) D



103) D

	MV = 
	 NOI 
	 = 
	.7(740,000) - 16,800
	 = 2,278,182

	
	CAP
	
	.22
	




104) B

	MV = 
	 NOI  
	

	
	CAP
	

	  

	MV = 
	 956,000  
	 = 5,975,000

	
	.16
	




105) C

	   Total Market Value    
	 = NAV

	Total Number of Shares
	

	  

	 173,969  
	 = 15.96

	10,900
	




106) C

	18.20 - 20.40
	 = -.1078

	20.40
	




107) A

	    NAV    
	 =

	(1 - Load)
	


 

	72.40
	 = 76.21

	.95
	




108) D

	OP = 
	  $20   
	 = $20.83 x 250 = $5,208

	
	.96
	




109) D
Expected return of Stock M = 8 + 1.7(16 - 8) = 21.6. Estimated return of Stock M = 26 - 20/20 = 30%. Since the estimated return is greater than the expected return, the investor should purchase the stock. 



110) C



111) C
Parallel shifts in the SML result from changing market conditions (such as an increase in expected inflation). When inflation expectations increase, investors want to be compensated for the increased risk and to insure that their purchasing power is not eroded. Thus, the SML shifts upward, increasing the expected return at each level of risk.

The SML will shift downward in response to decreasing inflation expectations, decreased economic growth, and expanding capital markets. Changes in slope cause the SML to rotate. The slope of the SML will change in response to changes in attitudes of investors toward risk that affects the market risk premium. If there is an increase in the market risk premium, the SML will rotate counterclockwise about the risk free rate. If there is a decrease in the market risk premium, the SML will rotate clockwise about the risk free rate. 



112) B
The Market Risk Premium = Expected Market Return – Nominal Risk Free Rate. Here, we are given the expected market return, but need to calculate the nominal risk free rate. Then, we can determine the Market Risk Premium.

Step 1: Calculate the Nominal Risk-Free Rate:

Nominal Risk-Free Rate = [(1 + Risk Free Ratereal)*(1 + Inflation Premium)] - 1

= [(1 + 0.04)*(1 + 0.035)] – 1 = 1.076 – 1 = 0.076 or 7.6%

Step 1: Calculate the Risk Premium:

Market Risk Premium = Expected Market Return – Nominal Risk Free Rate

= 12% - 7.6% = 4.4%



113) B
The equation for the nominal risk free rate is:

Required Returnnominal = [(1 + Risk-Free Ratereal) * (1 + Inflation Premium) * (1 + Risk Premium)] - 1

The market risk premium is used when determining the security market line (SML) and equals the required market return minus the nominal risk-free rate. Liquidity risk is a part of total risk which is measured by the risk premium. The exchange rate is not a factor in this calculation. 



114) C
The gifting state is associated with estate planning and tax minimization. The spending phase is associated with protection for assets. Although these two states usually run concurrently, the life cycle distinguishes them in that the gifting phase is concerned with giving away assets while in the spending phase, there is still some accumulation from low-risk investments.

The other choices are true. 



115) A
This statement is true.

The steps of the investment process are listed in the incorrect order. The order should be as follows: specify goals and constraints (write a policy statement), analyze current financial and economic conditions (develop investment strategy), allocate assets across asset classes (implement the plan), monitor and rebalance the portfolio as needed (monitor and update). In the spending and gifting phases, investor portfolios generally less in equities as investors seek lower risk securities. Performance should be judged using an objective, benchmark standard – not the raw portfolio return. 



116) D
This statement should read, “By diversifying both domestically and internationally, investors limit risk to worldwide systematic risk factors only." (Much like domestic diversification reduces unsystematic risk from individual investments, but systematic risk still exists.) The other choices are valid arguments for international diversification. 



117) A
Investor X has a steep indifference curve, indicating that he is risk-averse. Flatter indifference curves, such as those for Investor Y, indicate a less risk-averse investor. The other choices are true. A more risk-averse investor will likely obtain lower returns than a less risk-averse investor. 



118) D
This selection is true (or not false). By definition, all portfolios below the CML are inefficient in that they do not give enough return for their risk. Investors could do better by combining the risk-free asset with the portfolio.

The area to the left of point S represents systematic or undiversifiable risk. Investors are compensated for this risk. The correct label for the x-axis is total risk, or standard deviation. The CML plots total risk (systematic plus unsystematic risk) versus expected return; the security market line (SML) plots beta (or systematic risk) versus expected return. Portfolio Z is created by lending at the risk-free rate and holding less than 100% of Portfolio M. Investors in portfolios to the left of the market portfolio, M, are invested in less than 100% of M. 



119) B
Standard deviation measures total risk. When Beta < 1, ERstock < ERmarket. The characteristic line is the equation for Beta. The error term, EResiduals, equals the portion of the asset’s returns that are uncorrelated to the market portfolio’s returns, or unsystematic risk. This error term has an expected value of 0 and the standard deviation is called the residual standard error. 



120) D

The Total Dollar Return is calculated as follows:

Step 1: Calculate the value change in the foreign currency:
The foreign currency appreciated by 0.05, or 5.0%.

Step 2: Use the Total Dollar return formula to calculate the return:
R$ = { [ 1 + ($coupon + VEND - VBEG) /  VBEG ] * (1 + g) } - 1,

Where R$ = Total dollar return, VEND = Bond value at end of period, VBEG = Bond value at end of period, and g = % change in the dollar value of the foreign currency.

Here, R$ =  { [ 1 + (8.0 + 93.0 – 94.0) / 94.0 ] * (1 + 0.05) } - 1

            =  { [1.074468 ] * (1.05) } - 1

 = 0.12819, or 12.819%
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